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All India Bar Examination-III [2012]

SR. Subjects Questions No. Total No. | Marks | Weightage
No. of Q. (%)
1 Constitution of India 15,16,17,19,61,78,81,84,86, 9 9 9%
2 Indian Penal code 29,30,31,32,33,34,35 7 7 7%
3 Civil Procedure Code 8,10,11,12,13,14,45,46, 8 8 8%
4 Criminal Procedure Code 36,37,38,39,40,41,42,59,85 9 9 9%
5 Indian Evidence Act 50,51,52,53,54,55, 56 7 7 7%
6 Arbitration & Conciliation Act | 1,2,3,4,7 5 5 5%
7 Administration Law 18 1 1 1%
8 Professional Ethics & Cases of | 21,64,65,66,67,68,69,70 8 8 8%

Professional Misconduct

Under Bar Council of India

Rules
9 Family Law 89 1 1 1%
10 Company Law 82,88,90,92 4 4 4%
11 Environment Pro. Act 100 1 1 1%
12 Labour & Industrial Law 93,94 2 2 2%
13 Law Of Torts, M.V. Act and 26,48,62,95,96,97,98 7 7 7%

Consumer Protection Law
14 Law Related to Taxation 91 1 1 1%
15 Law of Contract, Specific 5,6,22,23,24,25,27,28,43,44,47,6 22 22 22%

Relief, Property Laws, 3,71,72,73,74,75,76,77,79,80,99

Negotiable Instrument Act,
16 Limitation Act 9 1 1 1%
17 International Law 83,87 2 2 2%
18 Interpretation 57,60 2 2 2%
19 Registration Act,1908 49 1 1 1%
20 Jurisprudence 58,59 1 1 1%
21 GK 20 1 1 1%

Total 100 100 100%
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Constitution of India

Which of the following matters does the Parliament

have the power to make laws on? / = # & forg worat

TR HHE Sl STgA a1 hi 21fwh 81

(1) Entries in List I in Seventh Schedule of the
Constitution of India. /¥Rda Sfdem &t aradt srgget
# ugelt =it # ufafai

(2) Entries in Lists-I and II in Seventh Schedule of the
Constitution of India. /¥R Sfdem &Y aradt syt
H ugelt qor gust gt A ufafdat

(3) Entries in Lists I and III in Seventh Schedule of the
Constitution of India. /9Rda dfdea &I Gradt srggt
H gEs) a1 et g | ufafdai

(4) Entries in Lists I and III in Seventh Schedule of the
Constitution of India. /¥Rda dfder &6 qradt s
# ugett gt et gt § ufaft

(5) Entries in Lists I, II, and III in Seventh Schedule of
the Constitution of India./YRdT ™ &Y grad
S # Uget!, O aUT et gt # ufafdat |

Ans. [4]

Which of the following is a fundamental right that a

foreign national residing in India enjoys? /fA=1 & &

S 91 Aifae IfdeRR g Iught R # 7 @1 faRsf

ARTReR AT 82

(1) The right to assemble peaceably and without
arms. / rifamgar ofR 2 ARd Tehd g ot AR |

(2) The right to carry on a business. /a@a™ I @I
PR |

(3) The right to move freely throughout the territory
of India. / R &= AT ¥R & S <hdT & fa=Ror et
T ATTRRY

(4) The right against deprivation of personal liberty. /
Jafhes Tdaar ¥ dftd fhy A & fawg sifdar|

(5) The right to reside in any part of India. / ¥Rd &
foRelt oft a1mr & g+t ot SifdeRR |

Ans. [4]

Which of the following writs is used to challenge the
legality of a claim that a person asserts to a public
office, and to remove such a person from the public
office if the claim is not well-founded? /A= & @ &9
a1 & (Re) 39 a3 Y R_fSY swraar i gt & g o
glar & <1t fh & ue @1 s Rigfagds @var g ok 59
af<s 1 Ardee ug @ geraT Sidn g, afe <rar 9t A uran
STt gl

(1) Quo warranto. /&R g=aT

2) Habeas corpus. / & ugeftesor

)  Mandamus. / GrERST

4) Certiorari. [3HuuT

5) Prohibition. /ufasy

w
=

(
(
(
(

Ans. [1]
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19. A State passes a legislation making it mandatory for

all persons riding two-wheelers within the State to

wear helmets. This rule extends not only to the

driver, but also to any passenger on a two-wheeler.

A two- wheeler rider, A, challenges the legislation

on the ground that it violates A's fundamental right

under Article 19(1)(d) of the Constitution of India to
move freely throughout the territory of India. Will
the challenge succeed? [/ I59 A faur= utRa &= &t afgar
arel R gar gt @l & e T & erR g ugeEr
fard frar 81 g s Fas aes 9@ & faRa a4,

T TER 39 Al & forg oft @ it <t ufgar are R war g

21 2} ufar a1 §aR ‘&’ A 39 YR R Ay &t A §

fF a8 ‘%’ & vRa & dRu= & argede 19 (1) (9) & srefiw

IS R URd &t efraar 7 g feror & difas sifder @

&1 81 T g 9 ghft?

(1) Since the rule that makes helmets for two-wheeler
riders does not exist in other States, it is arbitrary
and unreasonable. As such, it violates the
fundamental right under Article 19(1)(d) and must
be struck down. /dfer &t ufgar arga Fart & forg foma
a1 fAgH R Isal # e 98, ag #aEE aur sgfed
g1 S o a8 srgeee 19(1) (9) & srefi wifore srfdenry
I I & 3R ITh! EeT SAT ST § |

(2) The safety of persons riding two- wheelers cannot
be said to be in the interest of the 'general public'.
Moreover, wearing a helmet affects the safety
only of those riding the two-wheeler, and nobody
else, including the other persons on the road.
Hence, the rule that makes helmets compulsory
will be struck down. /&t ufgar §arR ST 6t grem @t
S R & fgd | 78 Sgl 1 Fenar | St off g, g
U1 hadl ITch! GRET I uifad et §, St & ufgar
el il gart wRa g, o ot R T8 o gea R
Hiole gER @ affifeld 81 $1dga geriie UgA-T SifHart st
o R gerar S|

(3) The rule that makes helmets compulsory is a
reasonable restriction on the right under Article
19 (1) (d), and moreover, is in the interests of the
general public. Therefore, the challenge will not
succeed. /geme AR oA 1w srg=de 19 (1) (9)
& a7efi SRR WR afora sy §, ok St ot gt 51+ qremor
& fga & &, gaforg g gwer &l ghfh

(4) The rule that makes helmets compulsory, if struck
down, would affect the right to carry on any
occupation-trade, or business of the helmet
manufacturers, and therefore, cannot be struck
down. [gee ugHHT ifRed et a1 T, afe gerar sirar
2, foret +oft Haar-aTuR 9aTe ) uaIfad S At geie
fAmfarent & RIER @ ik 3afey, gerT gl ST YehdT |

(5) The rule that makes helmets compulsory is a
reasonable restriction on the right under Article
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19 (1)(d), but it must be imposed by the Central
Government for it to be valid. Hence, the rule will
be struck down. /fRTH STt geie ol S1fRad @=ar &
3% 19 (1) (9) & srefi o1fdapR Wk arfSie sy &, R
I s TRGR ot 7R ¥ IGhI fafy Ar=an & forg o foran
ST ATfeq | 3rded fAad gem@n Sa|

Ans. [3]

Charges of corruption are brought against A, the

President of India. The President is found to enjoy

immunity against those charges. Which of the

following Statements is the most accurate

application of the principle below? / ¥R & Jrgufa ¢

& f&eTw yerER & R« v &1 Q9T urar o g fh

TEafd &l 37 MRl & ge ure g1 Ffafea 4 € se ar

Ty A Ry 1o Rgia o1 ga@ 9ée srguat g2

(1) There is a presence of disability' in the office of
the President, and hence, A cannot function as
President so long as A is relying on 'immunity’. /
Agufd & wrafed § ‘fF:echar & Iuffa §, ok sidua &
9 I i g1 Y Gehd] SIE dch ‘IR UX HRIET
FEATE

(2) There is an absence of 'disability' in the office of
the President as there is. a presence of 'immunity’
in the office of the President. /Jgufd & wriea &
‘F:RdT BT AT €, S foh agufd o srfed | sRh’
St Heerht &1

(3) There is an absence of disability' in the Court of
law to try the President of India for an offence of
corruption. [YERR & WRIY & fay ¥RG & agufa &
framot &t =maTera | ‘AT T STE @ |

(4) There is a presence of ‘disability' from
prosecution in the office of the President of India,
and this results in an ‘immunity’ from prosecution
for an offence of corruption. / ¥Ra & JFUfd &
Frafed § srfagte & ‘frerhar & Iufedfd g, i 3T
TSI YETAR & SR | AN § ‘SRh’ I8l

(5) There.is a presence of 'disability' in the Court of
law to try the President of India for an offence of
corruption. /YEER & WRTY & foly YRA & Tgufd &
IRt dht <arITera # Y RdT h Hiee g |

Ans. [5]

X, was denied a job in a government department on
account of being HIV positive, despite possessing
the necessary qualifications for the post. X filed a
petition challenging the denial, of the job. The
petitioner argued that the said denial was arbitrary,
unreasonable, and infringes X's right under Articles
14 and 21 of the Constitution of India: In light of
these facts, which of the following Statements is the
most accurate application of the principle below? /g

84.
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&t ga.3mE.f). gifcifRa &1 g1 Y avig @ SRt famr &

Arerdt @ w1 R fam T o, areSEE 39 6 Sud urw ue &

forq smaae divaar @ 1 7 3 A @ FER F A 33 g

gTfreeT TR &1 arfRieTerwt &1 dad AT fah /=T e /=TT,

SR auT g &1 YR AU & rgde 14 aur 21 &

i fdPR &1 Iewa Ut 39 a2l & uRvsa # A

FYET A @ i 91 FYF = g Rigia R gaffdes a8 =u

SR G

(1)  X's petition will fail because X's HIV positive status
would be a threat to public health. /g @&t arfeer
fawret gt oriifes @ Y war.ons. . difGifea fAfa o @ren
& forQ a8t gawli

(2) X's petition will succeed because X has the
necessary qualifications. / g & gIRe gk
ghtft Rilfeh T o T Srasaes ahadr 8l

(3) X's petition will fail because X's right to livelihood
is not an absolute right. /@ i arfeT fatha gift s=ifes
g &1 Sfia a9 ot SifdeR Hguf ifdeR =761 81

(4) X's petition will succeed because no person can be
deprived of the right to livelihood merely on the
grounds of being HIV positive. /g &I aTfRier atha
giift Fifen fonelt oft aaf<h @l St amue & SIfdaR & aJ
Tg.317s. Y. uifeifed & enyR wR dferd w8 fohat ST gepar|

(5) X's petition will fail because X was denied a job
according to procedure established by law, and
this is an exception to the right to livelihood./a &t
i fawer gt wraifes @ @t &Rl & 7= fafy & wenfig
Ufehal & SFY 741 fRaT M1 o1 quT a8 Sfas arue &
SfIRR HT UTS B

Ans. [4]

In a challenge to adjudication of disqualification of
a member of a legislature, bias was alleged against
the Chief Election Commissioner on the ground that
the complainant was a friend of the Chief Election
Commissioner. The Supreme Court held that as
there was a suspicion of bias, the Chief Election
Commissioner should excuse himself from
participating in the decision and let the other two
Election Commissioners decide the point. However,
there is a difference of opinion between the two
Election Commissioners and they are unable to
decide the matter. Can the Chief Election
Commissioner participate in the adjudication to
resolve the deadlock? /faum dea e & eha &
sifafaofa &t gHidt § g g sngw &R gafug &1 ekl
T MTYR R AT 741 o Rrerraaenal g goma simg=s &1
A un1 wat=a =ararea 3 sifaRa faran f, gafug «= @i
UT. T ATd AT i T4 ol Aol A & wrfled #3 @
ST T T1fey 3R 3 & g1 TgRh et ARt fAoffa
& 3T fR autf, St gera SRt & g Aave @ ok
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2 "ame [Afa &= 7 g9 78 & | F afa’ty F gz J

e g1 gk Sifafaofa & forg wrfterdt @ve wepar 82

(1) The Chief Election Commissioner cannot
participate in the adjudication, as the Supreme
Court has already ordered that the Chief Election
Commissioner step aside from the adjudication.
/7%= gAE Rg<h srfafofas & wrT A8t & GehdT, Siefe
Taled T Ugel 61 & IR gal & foh & g1
SR<h SHfafofaT @ s 81

(2) The Chief Election Commissioner cannot
participate in the adjudication, as personal bias
has already disqualified the Chief Election
Commissioner. /A7 @ AR AfAFoRaT & v T8t
& Gerdr, StaT foh afha qatus @ 9 gAE Ssh et
&1 ol g gaT 81

(3) The Chief Election Commissioner cannot
participate in the adjudication, as the Chief
Election Commissioner will now be even more
biased towards the complainant. /4% g9 3Mg<h
Sifafofaa & it 98 & Fahar, a1 f6 g=7 g egeh
3t Y fRARrIdeRal &t TR 3R 3ifdeh gardTd |

(4) The Chief Election Commissioner can participate
in the adjudication as no other person competent
to adjudicate and resolve the deadlock is
available./q®a gm@ omg<h ifAfFvRaT & v & Gordr g,
ST foh i o @fch iRy ¥ el a1 ATSFofe e &

29.
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(1) A will succeed because the detention order
violates Article 22 of the Constitution of India, as it
restricts the right of the accused to consult a
lawyer of choice. /& Tha B Fifh Eg smeer
VR AU & Srgede 22 I g4 & i foh ag sifogeh
&1 U¥iE o S1fdeheT § tRHef & SIfdeR @t JAehdT B

(2) A will not succeed because the restriction
stipulating that A can meet a lawyer once a month
is a reasonable restriction. /& el gl W Fiifh
vy 59 srgag @1 & & & sifdah @ A & Ua &R, e
YehdT g, 31d: vy IRT 21

(3) A will succeed because A has the right to meet
anyone A wants to. /& Tthd 8T Fifch & i 39 fohdt
g oft e o o1fdeR & Y & Aem 9’|

(4) A will not succeed because A is a detainee and has
no fundamental rights. /& Tthd gl g Hifch &
oG & ok 3U%h ot Hifer SR T8 &1

(5) A will not succeed because the order of detention
is in valid exercise of authority. /@& el &l ghll
Fifeh e smeer sifder fafdy g Iu=iT & &1

Ans. [1]

Indian Penal Code
In which of the following circumstances is culpable
homicide also murder under the Indian Penal Code,
1860? /far= gretta A & foraw SmuRIIeh ATeaay YR &S

o T8i 8| Tfgdar 1860 & arefi= gear oft &2
(5) The Chief Election Commissioner can participate (1) Where the offender intended to cause death. /<Tgi
in the adjudication as the required quorum cannot STORTER T TRT&T G A3 T 8

be formed in this iinstance./q& T 3Mg<h
HfAfofgT & wrT & Fehar g, ST fh 38 " | Fifed

ToTYfef TET SHTE ST Heel |

(2) Where the offender intended to cause serious
injury that caused the death of the victim. [S&i
SroRTeft BT R1ET TR FU T g A @1 g S difea Hr

Ans. [4] g $l a8 a1 Bl
(3) Where the offender intended to cause bodily
8. A was arrested and detained under the injury that is sufficient in the ordinary course of

Conservation of Foreign Exchange and Prevention of
Smuggling Activities Act, 1974. The detention order
prevented A from meeting A's lawyer more than
once month. A filed a petition challenging the
constitutional validity of the detention order, which
restricted A from meeting A's lawyer. In light of
these facts, which of the following Statements is the
most accurate application of the principle below?
/& & fRdft ger & zeror gad awRd afafafdmi Feror
ffAgH, 1974 & o1efiv ARUAR aur Ao forar mar ar |
g e & & 6t ifdawr |/ gerera v A1 | ifdew
qHY deh T @1 & A Feg sme fit aenfae fafdr s=aean
& gHd 3R arelt @il qR B [ sy & & @i
gt & e @ Aiftg fvar mar un1 59 a2t & afdea &
M & fAga = A= duat 4 € 9 @1 Fy= Faffds
H&eheT | UG siaT 81

30.

nature to cause death. [STgi SraRief} AT SRIET ARIRP
T ugam ol & ST foh Hg 81 o @Y ol JHHI R H B

(4) Where the offender intended to cause such injury
as the offender knew to be likely to cause the
death of the victim. [STgl SruRrelt @1 SRTIET U =
Uga™ o ¢ [ogeh ar 7 srorreft ot @ia ¢ o s difga
&I Hid gl T B

(5) Where the offender intended to commit an act
that was so imminently dangerous that it would,
in all probability, cause death. [STgt sroRreft @1 FRTET
OO Fcd e HT g St A deheygul o, red asft
gl 7 g gt gt

Ans. [Deleted]

Which of the following is not an essential element
to be proved in cases of hurt or grievous hurt? [ate
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gridRalc h A Aol FA o e d S s an discharges the shotgun, causing the death of the
AT e gl gl employee. The men get the cash and leave the bank.
(1) That the offender intended to hurt the victim. /a§ Can any or all of the robbers be charged in relation
fo srorTeft a1 difed &t Iusfa A &1 RraT Tl to the death of the bank employee? /4R sigHft d&
(2) That hurt was caused. /ag Jugfa ugars ot e ol HgHd gUI 379 | & I3 A1 AR 31T AR Qo dgeh
(3) That the hurt was caused voluntarily. /ag & Iugfa AR 3T | =D A o & fog S for | 3R au fRar f @
ez g3 ot foreft &t +ft Susfar ugam &1 vare wE FE 3 S F gt
(4) That the victim did not consent. /ag f& difeq & uga ufde g, wfifal @t ameht & ofik Fendl 3 i #im Fn
gfa gt ot dor ffal & @ ek A G I qara R FHifAg fY, o I/
(5) That the offender intended to cause hurt. /T8 f& forg srredt A Ml Tem & 9@ Sg i K dia g w1 a
Jrqreft ot IuBfA BT 3RTET AT St TR FR dF | Ted 1 T RIS a1 Gt R S
Ans. [1] T Y g & Heig 7 SRINY g wend &2
(1)  Yes, all of the robbers can be charged because the
31. In which of the following instances is an accused act of one. man in discharging the gun was in
most likely to be guilty of an offence under the pursuit of the common intention to hurt anyone if
Indian Penal Code, 1860? /fAw1 & & &l |1 gEid YR necessary while robbing the bank. / &), ¥t g&
&z dfgar, 1860 & 31efi=t sruRte o1 fRgeh Sifderaw Swra SRIUT g Tehd & Ifch Toh STTGHT T Sgeh o Ml FeAT=T
gt gl 8?2 foneft ot off IuBfy ugTR & THE RS F SRy o, I e
(1) Where a lawful act resulted in an unforeseen & quy afe S g |
injury due to an accident. /gt fafdqde f @ (2) No, the robbers were of the common intention
URUI gHeATasT Siehfeid die I gl that they would try not to hurt anyone, and this
(2) Where the injury is caused while acting pursuant was obviously an accident. [7&l, FeT ST A Il
to an order of the Court. /STgi e AT h 31T fordt ot oft Sugfa 18T ugam™ o uaT &1 AT SR g a8
IIEROT § TS A S 9T &8 &1 SEeHTaRT g3 Tl
(3) Where the injury is caused by a Judge while acting (3) Yes, but only the three robbers carrying weapons
judicially. [<Stgt gte <grmefier & TR ARf e & Tl may be charged as they clearly had the common
g al intention to use the weapons, if necessary. /&, AR
(4) Where the injury caused is very slight and trifle, Fadt § dF g&R S gfR , oy gu 9, sRifua g @t
according to the accused. /Sigl 9t dgd gechl auT ST foh - ST WE T S g4 R efaRt a1 suah
Too, Sfgh & ITIR &8 8l Y I AT |
(5) Where the injury caused by accused when he is of (4) Yes, all of the robbers can be charged because the
unsound mind. /STl i fEgh T &R & d9 & T8 act of one man in discharging the gun, was in
SECES ﬁ%ﬁ? AT pursuit of the common intention of all of them to
Ans. [4] rob the bank. /gf, @ft &R eIt fhg &1 Werd &
Flfch Ten cafxh T sigeh T &l hcd I Tt & ok et
32. Which of the following is not a form of punishment & GH & o STER0T H AT
under the Indian Penal Code, 1860? /A= & & =i 41 (5) Yes, but only the man who discharged the
VR &2 digar, 1860 o 31efi1 €< o1 =T A &2 shotgun can be charged, as it is his fault alone,
(1) Forfeiture of property. /dufxr @1 gHUgRor and the others were of the common intention that
(2) Imprisonment for life. /3TSiaa wRET™ they would try not to hurt anyone. / g, AR
(3) Simple imprisonment. /TT&T HRETE hacT ag STeHT Y sigeh IaT ehdT T, ST foh 39 aTehet
(4) Fine. [S&fT T Y AT 3R 3T BT GHM 31T AT o & Rt ol oft
(5) Community service. /99 9aT | Il T8l ugam™ ot T |
Ans. [5] Ans. [4]
33. Four men agree to rob a bank. Two of them are| 34. A gives B Rs. 25,000/- to buy a television from a
carrying large knives and one has a shotgun. The store. B runs away with the money. Which of the
last one is canying a bag for the money. They agree following Statements is the most accurate
that they will try not to hurt anyone. They enter the application of the principle Trobelow? /& 3 & @t
bank wearing masks, threaten the staff, and R ¥ Hafae @dfea & faw sug & 25,000 /- R @@ 39
demand cash. One of the bank employees tries to o= & 1Y 9T T R YAl § @ s9Er wyE J1 g
grab the shotgun, and the man holding it fAgia & wg=h o1 faepet @t 81
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(1) B has committed the offence of theft and criminal
breach of trust. /@ = TR a7 319=Te fohaT e SmuRifdeh
T foRa|

(2) B has committed the offence of theft only and not
criminal breach of trust. /@ 3 dhad TR T IO
foma ofiR smoRifAres =aryedT A1gT foha|

(3) B has committed the offence of criminal breach of
trust only and not theft. / @ 7 had SRR
T fohar ofiR TRt w18t

(4) B has committed no offence. /@ 3 &I IWRTY Tl
foma |

(5) B has committed the offence of theft, but will also
be guilty of criminal breach of trust if he converts
the money to his use. [@ 3 IR I Ry foham, TR
TR =T @1 off it ghm afe 98«9 @t e
T & T B

Ans. [3]

A threatens to publish a defamatory article about B

unless B gives him money. B gives him the money to

protect his reputation. Which of the following

Statements is most accurate about A's liability? /&

@ I YT T R A F IR A UHFSHR A TRIAA

& fir et € @ 7 ool ufast i wend 3@ u= Ram &

& ATt & ar & A= & | @i 91wy fAega i 81

(1) A'is guilty of extortion as A has put B in fear of
injury to his reputation and induced B to give the
money. /& 3&&IU- I & & ST fh & 5 @ &l I
gfcrsT Y g1 a1 17 feaman & SR @ &t 4 &7 ot GHaran
gl

(2) A is not guilty of extortion as money is not a
property or valuable security. /& 3&&ra @ g} gt
& i fon o Sufxy a1 geaar ufasyfa T8 & |

(3) Ais not guilty of extortion as A only threatened to
publish an article, which would not have caused
any physical injury to B./& 3I%aru- T &St 8l & StEr
foh & 7 dhaet @ USRI A FHY g & § GG @ At
s AR &rfr g ugert |

(4) Ais guilty of extortion as A has put B in fear of
physical harm and induced B to give the money.
ek IEETUA T <o § SiT foh & 3 @ vt RN Al &1 9
femar ofk @ @t e 37 ot puam 8

(5) A is not guilty of extortion as A did not actually
publish the article to get the money from B. /&
I&GTU T S} 8T § SiIfch & 3 aad #§ @ ¥ €9 UM &
T @ o1 U1 T fhaT B

Ans. [1]

Code of Civil Procedure
Which of the following Statements is most accurate

about a clerical error that has accidentally crept
into a judgment? /A & & wiaT wY= 39 AR Ffe

10.
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& IR § gaffdes gd-ad g st fAvfa & R srmaurasr

GRE]

(1)  Such an error cannot be corrected except by way
of an appeal against the judgment. /39 Jf& &t GURT
T8I ST Gehar famg Aol & g ordier & wRkT|

(2) The parties must file a fresh suit to rectify the
error in the judgment. / g&i&RI &t ol & IR &t
FURA & forg g RR § are 1fee ser =gl

(3) The parties can apply to and request the registrar
of the Court to rectify the error in the judgment. /
YR <RI o Usiigeh ot TTde- a1 3mg fofa & Ffe
T GYR P o Iy e Tord &

(4) The clerk who is responsible for the error must file
an application to correct the error in the
judgment. /ffte St 3 & oy I=arh & 39 fvkg
3 8t A & fely Sde ust arfee et A1fe g |

(5) The Court may, of its own motion, rectify the error
in the judgment. /=TT, SO @Y & Ugdt W, vl
H Afe T GUR X ThaT 8

Ans. [5]

In which of the following circumstances can a Court

pass an interlocutory order? /A= uRfedfa & 4 fora#

T AT&ehTei < TSR UTRA &Y HehdT 87

(1) Before a suit has been filed, to protect the rights
of the parties. /aTg TR fhaT S 399 U, U&HRI &
SIfIRI T 3&mef|

(2) After a suit has been filed but before its final
disposal, to protect the disputed property. /[dam&
TRR fhy M & 9% 7R 9 sifad AR & ugd,
faanfea Tufxy 6 zend)

(3) After a suit has been filed but before its final
disposal, to protect the rights of the parties. /am&
TR AU OTA & o1 AR ST <ifad Aaror @ uga, uelt
& STfdeRRY <t zemef|

(4) After final disposal of a suit, to protect the
disputed property. /ag & sifow FERT & 9T,
fanfea Tufxy & amed|

(5) After final disposal of a suit, to protect the rights
of the parties. [ar & sifdn AR & s, et &
SfeRRY <l &

Ans. [3]

In which of the following circumstances will a

judgment of a foreign Court not operate as res

judicata between the parties? [/ Rm=faf@a & @ g

aRfeafa & ff =marera &1 Fofa gaf & fa gf =g &

&Y # rd g wvm?

(1) The foreign Court was not, one of competent
jurisdiction. /fa=ft =maTera Ger SAAIGR # ¥ g T8
o
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(2) The judgment was given only on the merits of the
case. [ fAvfa gt AR & TUT-QIY & STUR W T )

(3) The judgment was obtained fraudulently. /Mol
Hucgdeh I T fohaT T ol

(4) The proceedings in the foreign Court did not
follow the principles of natural justice. /fac=ft
qrATAd § RiATel UTpfaes < & Rigial @ uterd Ael
et o

(5) The foreign Court failed to recognise that Indian
law was applicable. /faRsft =marera ag a4 & fawa
g1 foh YR ST oy Tl

Ans. [Deleted]

A files a suit against B over a contractual dispute.
The Court summons B and fixes a date to hear the
matter. On the appointed day, A fails to appear in
person. A's lawyer informs the Court and B that A
will be unable to attend the hearing as she is
attending a parent-teacher meeting at her son's
school. In light of these facts and the principle
below, what is the Court most likely to do? /&A@

faeg dfdercws fAar & TR T~ R I 3 g

& aea fFar aur amen A A fafd [fga fir 1 [l

e R o afkar: Iufeda &R A fRAwe @11 & & sifdesrr 3

araTerd ot gfed far aur @ &t off i & gaars | sufea

g A srawd g wifh 3@ oA g & Renea d sifvvmas

ferer doa A afdfara g 8 | 37 i & aRleg & sik =

v Rgia 9 ~urarea & o w6 Gaifdes ST g1

(1) The Court will dismiss the suit, as the plaintiff did
not appear in person. [af& arét eafthar: g T8l g9 &
Y, AT aTe Sl @RS |

(2) The Court will proceed ex-parte, as the defendant
did not appear in person. /gfqardl & eafhar: ger T8t
B 9, RIS Yo dRI HhriaTal |

(3) The Court will proceed with the hearing, as the
plaintiff has sufficient cause to be absent. /<mare™
ATS & 1Y hIAATE! T, ST foh arél & Sruiedd gi
&1 HATWISE HRUT

(4) The Court will proceed with the hearing, as the
defendant has sufficient cause to be absent.
[T gAas & A1y GRidre! e, S fh ardt &
U g I AATTIE RO &

(5) The Court will proceed with the hearing, as the
defendant and the plaintiffs lawyer are present in
Court. [=TTeRT G-aTS & T hRIATE! ST, Sie fob ardt
T ufdardt & Stfdeshr =marerd 7 Hivlg 81

Ans. [5]

A enters into agreements with B and C. A agrees to
supply B with oranges and to supply C with
mangoes. Subsequently, A fails to supply both B and
C with the fruits as promised. In light of these facts

14.
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and the principle below, which of the following

Statements is most accurate? /& & @ dAT T & Y

TR fran & 3 @ ot et aur 7 Ht o Fir sgfd FA R

Heafa &1 ugraad], & arg & garfas @ aur 7, 41 F wat

& ogfd @t | fawer <@n aat awn 9 Ry Rga &

afvea # A & @ &l a1 = fAegpa 98t 81

(1) B & C must file separate suits, as A has entered
into separate agreements with B and C. /@ qur
I STTT-3TeTT a1 SRR o ATfgy ST foh o A @ qur 71 @
STCTT-STRT eI fohaT 2|

(2) B and C may file a suit against A together, as A's
failure to supply them, with fruits is a common
cause of action. /3@ 94T 7 Q1Y & & & &k a8 gR
R TR, ST foh o T el Y TS e H fatRet T
HRATS ohl T HRUTE |

(3) B and C may file a suit against A together, as the
right to relief arose from the same act, that is, A's
failure to supply them with fruits. [@d T A &
& Tt aTe aRR &R Fahl, ST foh W8d ot sifder 3t
HRUT ¥ I&T & foh & Ih! thedl ehl TS et & fAthet 8T
ATl

(4) B and C may file a suit against A together, as the
right to relief arose from the same transaction,
that is, A's agreement with Band C. /@ a1 7 91y &
& o ATk are SRR &R T, ST foh gd o SifdeR
YT o 3 T 35T & S foh o T @ qUT T S AT AR Tl
gl

(5) B and C may file a suit together, as common
questions of law and facts would arise if they filed
separate suits. /@ dUT T I H I TR X G,
S fafY & T garer aur Jeg dar g, afk 3 srer-
3T d1E ERR ] |

Ans. [1]

ABC Private Limited is a courier company head
quartered at Mumbai. D, a resident of New Delhi, is
visiting Mumbai and dispatches a consignment of
valuable goods through ABC Private Limited from
Mumbai to his ancestral home in Kolkata. In the
course of transit, the goods are damaged at Bhopal.
In light of these facts and the principles below,
where is D permitted to file a suit against ABC
Private Limited? /q. &ft. &f. urgde fAfiRs & FRWR
@t @ et qreaTera g & 21 Reeeht & Prareh, o 3 gad
STHA & RM Jogar asgedl it |@u gt ugde
fafds & siRT g @ oo e =R widwEaT A5ft g
& g #, 9| Wiute A affausd g man; qeat ofk i1 Ry
frgia & ufdlea 4, ar at 71 9 i g ugde R &
feg are arR & Y argaT 81

(1) At Bhopal, Mumbai, or Kolkata. [+, Ha§ ar

SRIcTeRIdT H |
(2) At Mumbai or Bhopal. /48 a1 «iuTet &1
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At Mumbai, Bhopal, or New Delhi. /43, fiurer a7 75
feeett #1
At New Delhi or Bhopal. /=% feeeft ar «fturer & |
At Mumbai or Kolkata. /Hs3 a1 ietehrar &
Ans. [2]

Which of the following Statements does not
describe a fundamental rule regarding pleadings?
[P eyt | @ FF |1 Y sifvaeel & ey d Aifaw
foraw o1 gofe T SR=aT 1

(1)
(2)

Pleadings must State all material facts. /sif¥aa= &
g} aIfe deat o1 e giar =l
Pleadings need not follow, word-for- word in all
cases, the forms set out in Appendix A to the Code
of Civil Procedure, 1908. /g # ea-a=- U
IgERvr Oft Al # v il SieRd T8, ueu St
ufehar dfgar, 1908 & uRkfe & & FafRa 81
Pleadings must list all principles of law applicable
to the facts. /sif¥ea deai W Ugh-T G & qoft
Rigidt it it v fRg
Pleadings need not State the facts by means of
which the material facts are to be proved. /3if%aaa
H T T hYH 3 dXich Y T chl SIexd el ol dlfcieh
I gifed gt Sa|
Pleadings need to include material facts that the
law presumes in the party's favour. only if the
same has been specifically denied. /[sf%@aa #
difces a2t ot qffiferd e &I S¥xd gidl & oas
T STTURUT U&THR h U&T # dhae ad gi afe 39 fagiy =
Y TohRT T 8

Ans. [3]

Which of the following Statements regarding
written Statements is the most accurate? /faf@a

HYF & IR A A & @ A9 91 FuT o Td- a@ 2l

(1)

(2)

The rules applicable to plaints are, generally, not
applicable to written Statements. /[9MT=Id: a&-uAl
R U1 o, faf@d e R ughia =8 |

The defendant is allowed a maximum of ninety
days from the commission of the offence to file a
written Statement with the Court. /ufdaTd} et 3roRTer
HIRA B I SHfdehan T i & SR ey # fafea
HY AR e Y ST 8

A Statement questioning the maintainability of the
suit would be sufficient in a written Statement, as
it is not always necessary to specifically State why
the suit is not maintainable. /alg &} I9TT W@ W
LieRT et aTert faerur foifa sem & gt ghm, S fos a8
U SR AT & foh fatw 3u @ et W & &g = @
S AT el 8l

(4) The defendant may choose to admit or deny the

allegations in the plaint but must not allege any

(1)
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new facts in the written Statement. /ufdaré are ux
# SRIGT &t AR a1 741 A D gH T 7R fafed
Y H Rt 7 qeal o1 ehe 8l AT =Ryl
The defendant can add to the written Statement
the defence of set-off or counter-claim even at a
later stage in the proceedings, with the
permission of the Court, if there is due cause for
doing so. /afdard} fafad &= § Site GerdT & Ugd A
a1 ufd- e & e 8, agt ao & erdae & g & @
# oft, =T A ergAfa §, aft eET e @ g SR
g

Ans. [5]

Criminal Procedure Code

36. Which of the following Statements concerning
confessions in criminal matters is most accurate? /
et oo & @ @ it Awel § defiply ddd
Taffdes I8l 8?2

Due to the privilege against self- incrimination,
neither confessions given to a police officer or a
Magistrate are admissible at trial. /& - SY¥RUT &
favg FaiwfderR & sRuT, g sIfeRt ot a1 foaror R
TEUHIT AIE Tt e & Sy |

Confessions to police officers are only admissible
at trial, if the accused have been advised
beforehand that they are not obligated to make
any Statement. /gfed SRt @l dxflpfd hae
faremRor R Ut , afd sifegeh ot ugd @ g ddradt &
TS & foh 3 fohelt e ont ohet ot ST TET B

Confessions are admissible provided the
accused's rights have been protected, most
importantly those including the right to legal
advice and the right to not .be tortured. /Sl
TEUH uraeT foh sif9gh & SifeRT a1 2eruT fohar ST,
Haffare Agaygufdr 3a+ fafdw Targ o sifder gur ara-r
B & o SHfYeRR T g1

Confessions are admissible provided the accused
has given it voluntarily and police officer
recording it has followed all procedures outlined
in the Code of Criminal Procedure, 1973. /dwiepfd
T uraeT fh sifges 3 38 W @ fiar & ok gfarw
ARt 3 srfaee &S ufehar dfgar, 1973 # & 3
goft ufcharaett & srqaror A frar 8

Confessions are admissible provided the accused
has given it voluntarily and the Magistrate
recording it has followed all procedures outlined
in the Criminal Procedure Code, 1973. /T<fiepfa
TeurEg e & o ¥ 9 @eer @ Rar @ iR
AfSRge 3 ITT rfeiad ifes ufthar dfgar, 1973 7 &
s Tt ufeharsit & srgeRoT # fRar 1

Ans. [5]
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Which of the following is not one of the basic rights

of an arrested person under the Criminal Procedure

Code, 1973?/ fA=faf@a & & &9 a1 i uftkar

dfgar, 1973 & aga fiRwar afth & ga Rl § €@ g&

el 8?/

(1) The right not to be subjected to unnecessary
restraint. /STTTeh Ak T3] Wa= Taeft 1feprR|

(2) The right to have a lawyer present at all times,
including in the interrogation room. /J&dr® el #
&R gAY JAfAGHI & HIS[E B T AfAHR|

(3) The right not to be tortured or be subject to
custodial violence, and for the interrogation to
remain humane. /ard=T 981 &= a1 S1fARen # 391 7 et
3R gpare & forg aFdadT a7 @A et sifdear|

(4) The right to be produced before a Magistrate
within twenty-four hours of arrest. /fRER &
Y G & e ARSI & THET U i ol NfAFR |

(5) The right to be informed of the grounds of arrest.
/AR & SR & gfad g+ a1 Sifder|

Ans. [2]

Which if the following is least likely to be a

consideration that the Court will normally weigh

when considering an application for bail? /

fAefafaa d 9 fFa R AR =3 A 9 @ 9 Gy @

for sreTera s & fow smded wR faR @vd 99a am=

&Y § far &3f?

(1) The character of the evidence presented. [9¥&d
H1&Y <hl 27 |

(2) What the police officers handling the case want.
/9o SrfYeRRT ATt St FTer | o argdT 81

(3) Whether the accused will appear in Court, or leave
the jurisdiction. / T1e df R NG AT A
91 g, AT STAeRRIdT &5 H Srgafd |

(4) The nature and seriousness of the offence. /3Ty
&I Ui gd TR

(5) Apprehension of the accused tampering with
witnesses. [TaTgl & SIfHGh & De-BTe A I fad=mTI

Ans. [2]

Which of the following Statements about the
Criminal Procedure Code, 1973 is least accurate? /
SoRTfd ufehar wfgar, 1973 & ar # F=afafeas 7 @ &
T FYF a4 FH Ik 27

(1) Since it is a central legislation, only the Parliament

can amend it and not State legislatures. /ijﬁ? g
F<g fAue 8, dhaa Jue 39 JMAT ™R Fahdt §, T

40.
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(3) It provides the rules and procedure for trial of
offences. [ag 3mRret & faaRor & fog Rt aur ufthar
T T Sl g

(4) It provides the procedural law to implement the
substantive criminal law. [dg 9Rkd e &F &
foraTeram & forg ufeharcaen s ol UTa e T 81

(5) It balances the rights of the accused and the need
for society to protect itself from crime. /a8 Sf9gH
& AfYRRI TUT IWRTY T AT &t T & T STHRT T
SEERERSIE]

Ans. [1]

A is taken to a Police Station for questioning. The
police officer was informed that A was one of the
witnesses to an incident the previous day where one
man assaulted another. What the police officer does
not know is that A was also involved in the assault
on the man, but had stopped before any other
witnesses arrived on the scene. Is A obliged to
answer the police officer's questions? / T &} gadrs &
forg gfer R & srar man @1 gfer sifdanrst o6t gfea foran
11 fF ¢ fase e hY vep et & margl J @ wen ur Sigi Uk
s A gER R gwa fohar un e sifdenrt ot ag =1l uar
for © oft 39 afwh R gaat & nfae ur, Afera feedt o= marg
% GEATI UR UgeA | Ut a1 dg Ik T AT /T A gfer
SfAFRY & usil &1 IR A & fAw arem @2
(1) No, A does not have to answer any questions as
he may incriminate himself in the assault. /78, &
o fohelt +ff Taret &1 STare T8t &A1 gian 8, S foh a8 ge
BH A QRITIT 8 TehdT 81
(2) Yes, he has to answer all the officer's questions
because neither is he a suspect nor has he been
charged; so he cannot avail the protection of the
principle above. (g, 3% SifdarRt & Tfi Fara &
STaTe 39 i § raifas ag dfery §, S emRifud w8t §, safew
g SURI<h g & SITa T AT 8] of GehdT |
(3) No, he does not have to answer any questions if
he does not want to, as anyone involved in
criminal matters has the right against self-
incrimination. /781, ST foheft Garet o STard gt &A1 gidar
2, ok a8 T 7 g, St R g ok smuRifes ATl #
giMfed 38 @ - URY & g IfdeR &1
(4) Yes, he has to answer all the questions; but since
he will become a suspect, he is entitled to have a
lawyer present. [gf, 38 Tt Tarea & SaE 37 g1 €,
TR dfch g8 vy s7 S, a8 g i Asett &
fog gehearR 31

(5) Yes, he has to answer questions up to the point

e Hea 7l where he may incriminate himself in the assault. /
(2) It provides the rules and procedure for &f, 38 39 forg doh Haread & IR : 3 & gt & M a8

investigation into offences. /  ORTel & SrAwoT & A § W SR gt S

fore et qur ufehar @1 g8 uTae wRar gl Ans. [5]
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<rareier A AT 76 & & R agfa aeg T8 @, =
41. A police officer attends A's house and tells him that qreg i it § fF gifes ' Tud R o1 R IHRA i
he is under arrest, and that he should accompany thae f&am 399 gfes ganer gt 7€ ok 399 ofik awneft &t
the officer to the Police Station. A refuses to go with aAuT TS hY St f SFpferal & o P A7 F gud @
the officer. The officer leaves, saying that he will ford Su & @ fAeran gen aaram @ & iR @ gar & fag
return the next day with more police officers. A says R gt wepar 82
he will go with the police officers the next day. Is A (1) Yes, A can be tried again, because of the discovery
under arrest at this stage, and why?/ T& gfes of new evidence: / g, o ok O o= gt Gepar &,
YRR T & =R ST g 3R IA aardar g fF ag fAiRast & ‘Fifes 7T g1y et €1
31efiT 8, ok 39 ifderrt & w1y yfew Ree ge=m anfgel & (2) No, A cannot be tried again, because that would
3 Rt & w1y I @ R Fw R sifdewrd ag Fed gg amount, to trying A again for the same offence:
T oI @ foh ag ontet e ok gferw sifdemiRat & &y [7), & fore & femRa =Y §) Genar, =iifes ag & & f@emw
aIu" QI § gt g foh ag e @ gfers sifdemiiRat & I} 3roRTe o forw folR @ faaRur ahea & oft & gt staem
TIY ST | <7 39 &R R A RTaR & ik ai? (3) No,A cannot be tried again, but A can be tried for
(1) Yes, because the police officer has clearly told A palpable homicide because. of the new evidence. /
that he is under arrest and A has been notified T8, o foR @ faaTRa =81 81 YehdT, TR & ISI¥ AT ¢
that A will be taken to the police station the o a8t e ¢ wifk v aTea 8 |
following day. /&, iif gferw fdert 34 & & @We 3u (4) Yes, A can be tried again, but only if the police or
Y g1 [ 98 RwR giar 81 ok & sfagfRa o for 359 prosecution first have the initial acquittal
3ot &1 gfers um & S sme| quashed. / &f, & R & fa=Ra g Thar &, 7R Faer asft
(2) Yes, the police officer has clearly told A that A is gfe giorw a1 A gos URfYe I-H1e- @cr gl T gl
under arrest, and A has consented to go with the (5) No, A cannot be tried again, but once the acquittal
officers the following day, so that constitutes is quashed, A can be tried for culpable homicide.
submission. / &, gfer AfYeRT 4 & & WE ¥U 4, Fel /78, & fRR & faeRa a8l & g1, ™R UH IR S&
for a8 IRTAR 811 & 3k & = SifdeiRal & a1y 3rTet o I @ g T g, & SMURIRATT a9 & forg fa=anika
ST 6 gAfd &, 38fg a5 uegd i wfod 81 & Gkl 81
(3) No, but A is not allowed to leave the jurisdiction Ans. [2]
because he has agreed to be arrested the| 59. Which of the following philosophers suggested that
following day. [7&l, TR & @l SfARIRAT & Bfe &l society ought to concentrate on reducing all forms
ST g1 Rl I erTet e FRTAR g1 i wgafa sars of injustice rather than focusing on what ‘justice’
2l is? /f 7 @ fore anxfffes 3 gema Ran &6 awrer & @
(4) No, because when A refused to go with the police '’ 8? R M dhifed & f a1 39 ) R &=
officer, the police officer did. not touch or a1fae for er=ama & |t ursu &t e faRaT ST
otherwise attempt to confine A, so A is not yet (1) Roscoe Pound. /3t uss
under arrest. /7781, ifch & A gferd SIfARRY & 1 I (2) Amartya Sen. [sma o9
9 77 foha 8, gferd SRRt o opt © 181 UraT AT a1 ST (3) Ronald Dworkin. [JHTes - Sifd=
Y JAeh A1 UTT AT 7Y & o1 dh IRUAR 81 8 (4) John Rawls. /[Si9 Je
(5) No, but A is on tentative arrest, as A is under (5) H.LA. Hart. /T<. Q1. €. &¢ |
notice that the police will collect A on following Ans. [2]
day. /78!, TR Rt FRIERY WR 8, S foh & 39 &
& 3iqiid ¢ foh g & ot orTel & & et 85. C, who is a suspected of committing genocide in the
Ans. [4] war in Country A in 1993 is found to be living in
Country B in 2007. The international community is
42. A is charged with murder. At his trial, the Judge almost wholly of the opinion that C should be tried
considers that there is not sufficient evidence in relation to the allegations. Which of the following
against A, including a lack of evidence that A was Statements least accurately applies the principle
even at the scene, and delivers a verdict of below? /7 321 & # 1993 # gQ g # REER FHA o1 Ay
acquittal. The police are frustrated by this and & Sit 2007 # 321 @ # g g e | gy siawia aqE
conduct further searches and testing at the scene. T 32 79 T € R T AT SrRiuY o ddy A fa=mRor g
They are able to recover some finger prints, which Tfgel i & Rgia = A= syl § @ &9 a1 &9 &0
they say match those of A. Can A be tried again for TE-9gl Wk gt 8l
murder? / & @ g1 &1 IR I ! 39 faarer’ &
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(1) C may be extradited to Country A to face trial. / T (2) Leading questions are permitted during
T faaROT &1 AT A & fT 331 & ot gaardor gt gerar examination in chief. /ga% U qwF Tdem & IRH
8l SR B

(2) C may only be tried in the International Criminal
Court. /T T ARl hael HARTEN <8 e # fohar
ST |

(3) C may be tried in Australia. /7 @1 faaror smeferar &
g T

(4) C may be tried in any country in the world. /T @1

(3) Leading questions are permitted during re-
examination: /@ T G: Ter & SR SR & |

(4) Leading questions are permitted during re-cross-
examination. /g T%l QA-UfAuRen & SR S &1

(5) The permission of the Court is necessary' to ask
leading questions during examination-in-chief,

foramRor fasg o foradY oft 21 F &Y g examination, or cross-examination./q& gdet , g
(5) C may be tried in Country A or Country B. /T @&T gden a1 ufd udenm & SRE gad UY F ded & g
feramRoT 3er o a1 3 =@ A g g TR hl SR ST B

Ans. [2]

Indian Evidence Act
Which of the following is least likely to be admitted
as evidence in a Court of law in India? /A= & & =9
1 9 S9ifad 918 & &u & vRd & <™ & ugor fear
ST 21
(1)  Expert evidence./ fasiws d1eg

Ans. [2]

Which of the following Statements is most accurate

about extra-judicial confessions in India? [WRa &

R G fipfa & aR # A wyE § @ @9 91 s

affdes Tl 21

(1)  Extra-judicial confessions are illegal. /| =RRR
Tl fafd wa g1

(2) Extra-judicial confessions are
TR Ieepld STed 81

(3) Extra-judicial confessions are admissible only with
the accused's permission. [FR<R WP dHad
g Fi SrgAfd G 8T 8

(4) Extra-judicial confessions are admissible but a
weak form of evidence. /AR TGl gT 8, TR
g 1&g T hHSIR UTey &

(5) Extra- judicial confessions would not ordinarily
require any corroboration. /| JRIR TRl ol
I fohedt SYfE el S1eed g1 gl

inadmissible. /

Ans. [4]

Which of the following Statements is most accurate

about 'leading questions'? [/ = @yl & @ wiAET

Y Gah U & IR # Faffded adh §?

(1) Aleading question is any question suggesting the
answer that the Court expects to receive. [
U9 IR : 30T A BT IS T ok =TT i T e
3 gl

53.

54.

Ans. [4]

Which of the following Statements most accurate

about illegally is most obtained evidence? /ey su

@ wfae |1ga & ar # = d @ &9 91 = q9affds a@d@

&?

(1) TIllegally obtained evidence cannot be relied on to
convict an accused but can be relied only on to

(2) Third party evidence. /a1yt qieg support contentions in civil matters. /3if%gh &t
(3) Documentary evidence. /gxTaS d1ed YA IR Y ¥ 4 gIffieT TT8y uR WRIgT =gl fohar S
(4) Secondary evidence. [ATeafAe aTeg FephdT TR hael Afad Aamel d guda gfadel R a=ar
(5) Oral evidence. /Hif@es T1eg forar ST Gepdr g1

(2) Tllegally obtained evidence cannot be relied on by
any Court. /3139 30 § 31fSid T18T IR AT &l IR &
R & fohar ST Heparl

(3) Illegally obtained evidence can be used against a
party charged with an offence. /313y %0 9§ 31fSia
JIeY hT IUANT MUY oh ITRIT & UaT & g fhar S
BETIE

(4) Tllegally obtained evidence can be relied on, only if
corroborated by other evidence. /3% &7 & 3MTsid
Teg W At R foRar S Fehar 8, af ag R T ©
HgE B 8|

(5) Illegally obtained evidence can be used to
establish the mens rea of an accuse but not the
actus reus. /31aY 30 T 3ifSia T8y &1 IUTRT ST &
SrRTeft - 79 vt wTfUa A & forg foRam ST gehar § TR
grvguf s & forg =18t |

Ans. [3]

A is being tried for the murder of her husband. In
her trial, she claims that she committed the murder
under grave and sudden provocation. Which of the
following Statements is the most accurate
application of the principle below? /3ra? ufa i gear
& forg e ero= faamror #, S99 gran v s 59+ gt
TER SR AT ST & srefla A R s s @ Ala ar
&y v fAgra & uge-iaar o gaifas adtag@t 8 ?
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(1) A is guilty of murder as this amounts to an
admissible confession. /& gaT @1 gt & 4T fh T8
it Tfienrifthent Sroft &1 81

(2) The onus of proving the grave and sudden
provocation is on A. [T&dt dAT SFRTE IS ol
THTIONT e T YR & W B

(3) The onus of disproving the grave and sudden
provocation is now, on the prosecution. [T an
ST AT i TTeAd TTfeld e Tl R A R &

(4) The onus of proving the grave and provocation is
on the sudden prosecution. [Tgt qUT SRR IASHT
T TIfeId et T VR SIS IR 8

(5) The Court will presume that A's Statement is the
truth in the absence of conflicting circumstances.
[T it IuyRon gt foh & 1 U I & Toid aret
GEICERCRICET

Ans. [2]

Ais charged with committing forgery. C, a witness,
States in Court that A had committed forgery. Chad
earlier Stated in Court that A had not committed
forgery. Which of the following Statements is the
most accurate application of the principle below?
[® TR FERIOT FHRA HT ARIY AT AT g1 T g A
T ® gl foh & 7 geavor &l 13 ugst e # et
o1 o & 7 Feawor ag fit o1 B F F 9 91w
Haifdes agt-ud = fagia o &g aren 81
(1) The evidence of C will be admissible. /T @T T18g
g
(2) The evidence of C will be inadmissible and neither
party will be able to rely on C's Statements. /T @1
1y Iredfierd I SfR g Uel 71 & faaror iR wRIET st
# g 78t ghmi
(3) The evidence of C will be inadrnissible, as it does
not support the prosecution's case. [T @l 4I&d
IR g ST o ITY SIS UenvuT 1 9 el
glar
(4) The evidence of C will be admissible, but only after
C has been tried for perjury for lying in Court
earlier. /T &1 WTed TR g, TR &ad 91 |, T g4
H raTery A fAearard) & forg &t aied ot ifer 6
(5) The evidence of C will be inadmissible because C
has completely contradicted her Statement. /7 @1
e SR g ifeh 1 A g8 kg @ S faaRor &
e fhar g |
Ans. [1]
A is accused of forging currency notes, and is
convicted by a Court of competent jurisdiction in
State B of India and sentenced to the minimum
prescribed punishment. Since part of the cause of
action also arose in State C of India, a Court of
competent jurisdiction in State G seeks to try A on

@ :773774 6465 ©
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the same facts. Which of the following Statements is

the most accurate application of the principle below

? [ Ha1 e 6 eavor T ARG 3k e ifdaRar &

AT H R @ WRA & @ I5d § Auldg aur fafga

gAad on & forg Ef3a farar mam gifes Frfardt & Rt &t

AT YR & AT T & IO giar @, Isa T 7 gam

STARTRAT T AT 3 Il 924l WR < <1 fa=mRoT =g |

= fAgia & vgerar &t B9 ®yET & @ o9 ar gaffds

wgl- wft 81

(1) A can produce the judgment of his previous
conviction and sentence handed down by the
Court in State B, which would be a relevant fact,
and would prevent the Court in State C from
conducting a second trial on the same facts. [
SOt fUeett Aufig! ofR T & hdel ol URgd e GehdT
2 ford 35y, @ # =grarery i iR 8 e ma, St o e
e gt SQ, SR IS T & YT Gt Swal dT WR GERT
foemRoT S O Jep T

(2) A cannot produce the judgment of his previous
conviction and sentence handed down by the
Court in State B, as it is not relevant and would not
prevent the Court in State C from conducting a
trial. /& 3 fUod AW dur o & Bl @l udd
T8 R GohaT I TSI @ & T it SR § fam ma,
ST foh I8 uRifies 81 & SR T, T H ey & foawur
A I 1 Ak TTgT|

(3) A cannot produce the judgment of his previous
conviction and sentence handed down by the
Court in State B because the previous sentence
was handed down by Court in State B and was not
in force in State C. /o 31U fUod awfig duT I &
et ol U @1 X TohdT Ford 5T @ & <qrTerd Y 3R
T fear man wifes g @ § =mare @t ok @ & 1 sl
TSI ST T H JHTe 761 8 |

(4) A can produce the judgment of his previous
conviction and sentence handed down by the
Court in State B, provided that the High Court of
State C permits it. /& 307 fUSet WG IAT T &
et ohl UK el R GehdT FoId 0 @ | <qrarerd Y 3R
@ feam mar €, uray™ R IS 1 & S99 e A 39!
SEEIETN

(5) A can produce the judgment of his previous
conviction and sentence handed down by the
Court in State B, provided that the Supreme Court
of India permits it because the cause of action
arose in different States. /& 309 fUwa Quflg qur
oIl & thifel &l Ugd o FehdT & oG T @ # e
& 3R & e mat §, urau™ g foh R & Fated e
3 IGhT S FI § i HRATS I HRUT SHAT-3THT
TSt § I ga|

Ans. [1]
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Arbitration & Conciliation Act

Which of the following Statements is least accurate

about an arbitration agreement in India? /R & &

FIHT HUYT AHAEYAT TR & dR A HH 9 HH YRd A Sieh-

St 82

(1) The arbitration agreement must contemplate that
the arbitral Tribunal's decision will be binding on
its parties. [AEIRYAT a=R 39 AR @1 g1 =iy fk
HegeH STOeHv0T T haell ITah Ul IR deehrT gl

(2) The arbitration agreement must contemplate that
the arbitral Tribunal will determine the
substantive lights of the parties. [A&IRIdT TR 39
3TdeT o1 BT TIfeY foh HeaeH, ifeReuT UsieRl & I
SfIRRY &1 FAgfRor )

(3) Existence of an arbitration agreement is necessary
for a valid arbitration. /Heaerdr e=R & femmar fafer
T HeHIdT & foig S&<1 81

(4) The arbitration agreement must State who the
members of the arbitral Tribunal shall be. /F&a=dr
IR BT g H gHT A1y o Aeaeym sifdaeor & g
I B |

(5) The arbitration agreement should be valid under
the Indian Contract Act, 1872. [A&0Rdl TR YRA™
wfaer fafaw, 1872 & siefw fafey a7 g =nfgql

Ans. [4]

Which of the following is not a ground to set aside

an arbitral award under the Arbitration and

Conciliation Act, 1996? /A & @ R99T STYR HeaTAAT

e gusiar iffamm, 1996 & srefis aegeyar sifafavfa =t

T & & o 7 &2

(1) The arbitral award conflicts with public policy.
Jaeaerar sifafauly gt fifd @ coear g1

(2) The arbitral' award failed to appreciate the
evidence properly. /aeRar sifafola g1eg &1 fod=m
THRIAT ¥ o B [A%a @1 81

(3) The arbitration agreement is invalid in the eyes of
the law. /[HEIRIdT SRR &I Hi 3fe A Afd s 8 |

(4) The arbitral award was beyond the scope of
reference outlined in the arbitration agreement.
(e ifafAufa TegRear R & ST T & fawy
gF YR Tl

(5) The arbitral Tribunal was composed in an illegal
manner. /AT JfAROT SAY AT H TAford o |

Ans. [2]

Which of the following Statements is least accurate

about an expert determination? /fRius fRufRor & ar

# A & @ Rl9a1 FY9 79 @ FH S-S 87

(1) An expert's determination requires that the
dispute be referred to an independent third party.

@ :773774 6465 ©
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[Rdwat @1 RaRor gifea oxar & fF Qo w@ds SR uar
Y Gafdd gl

(2) An expert's determination is not. enforceable like
an arbitral award is. /v @1 RuRor gemeear
sifafofa 6 axg vadg 78 &1

(3) An expert's determination may be challenged in a
Court of law. /faiws & FaRor @ =marea & A &
ST Gehat 81

(4) An expert's determination is not but intended to
bind the parties. /fagtwa @1 FefRor gerdRY & da= &
Haed &l gl |

(5) An expert is not required to give reasons for the
determination. /fasiva &t FuRor & fog R 25 Hr
3TGehdT -1g] |

Ans. [3]

Which of the following is least likely to be required

of a settlement agreement in a mediation

proceeding? /A & @ iaT Aegwft rdardt & Roert

R I FH Q T T Fifedd &?

(1) A settlement agreement should be balanced and
reflect the benefit to each party. /AueRrT aRR dgferd
AT Uk U&T o folq AT opt Ufdfsiferd shest arer g =@1feg

(2) A settlement agreement should be in writing.
[FaerT R fofed & g ey

(3) A settlement agreement should be expressed in
judgmental language. /FueRT @xR fFolg 9T &
Sif9eh giFT a1ley

(4) A settlement agreement should describe the
responsibility of, each party in implementing it.
JRUeRT R # I foharaas & # Udd Ue &
IRl &l auid giAT =1feg

(5) A settlement agreement should State what the
parties' future relationship is to be. /fAuerT #R &
g S g1 A1fey foh ueit o1 wifasy & o dder gl

Ans. [3]

A and B refer a dispute to an arbitral Tribunal. The

Tribunal passes an award but both parties think

that the Tribunal has taken an incorrect view of an

applicable point of law. Can the parties approach

the Court to appeal against this order? /& dauT @ 3

fae &1 aweyy afdewor &t dedf fram efdawor 3

sifafaofa oifRa frar ureg g1+ gl o giemr g 6 sifdenzor

3 fafY & ugwrita farg W Teia gfeorior o= @1 @ ger

39 31 & feg ararera # duh & 9ehd 82

(1) No, unless they argue that the award is against
public policy. /7&l, 5@ d& & Tg geflet 7 & b srfdfAofy
e ifa & fasg 81

(2) Yes, because Court may support their alternative
view of the law. /g, @ifr =@ I fAfy &
Jenfctieh faaR o1 GHYH &R TerdT 81
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(3) Yes, but only because both parties agree that the
tribunal's award is incorrect. /&, TR e aft s&
ST get gHd g o sifdrezor et sifdfAvfa mera &1

(4) Yes, but only if the arbitral award makes the
award appealable. /| &, ¥R dhaet aff afe sifderzor
srfafavfa &t sifafaofa srdie aivg s=mar 81

(5) Yes, but only as a fresh suit, and not as an appeal
from the arbitral award. /gf, TR dhae ¢ fR ¥ arg &
3 H, 3fR sifdenvor sifafofa & erdfier Sar g

Ans. [1]
Administration Law

Which of the following Statements is most accurate

about a judgment of the High Court of a State?

[foreft TreT & S =maTed & et & aR # fREfaf@a d @

I T HYF a8 T 87

(1) Itis binding on an administrative Tribunal of that
State. /T8 3T TST & UGG AR TR IR
gl

(2) It is binding on all administrative Tribunals in
India. /g8 YRa & guft umafe =amanfdeson ) SRy
gl

(3) It is of persuasive value to an administrative
Tribunal of that State. /g 39 Isg o UHMS
ATATAERRT & folq IRk Je T 8

(4) It has no value to any of the administrative
Tribunals in India. /9Ra & fhdt off usmafe
ATTARRUT & oIy 3T hls Jed &l 81

(5) It has no value to an administrative Tribunal of
that State. /39T S IS & UAMHReh ATATAAROT
ferg wnig e T8t 81

Ans. [1]

Professional Ethics & Cases of Professional Misconduct

21.

Under Bar Council of India Rules
A, an advocate, is found to have committed
contempt of the Supreme Court by trying to

64.

@ :773774 6465
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T I ‘' T ITATC U3 T, e TehdT 8, fch a8 AfHerg
T & 3R 39 @Y i SeH & fog ds e Y aifeh @
|

(2) Yes, the Supreme Court can cancel A's licence to
practice as an advocate, since it is the highest
Court in the land, and an advocate who is in
contempt of the Supreme Court should not have a
right to practice./gl, Gatea =mareg Sifda<hr & U &
gy S et T ‘S’ T ST U T, e Tohal & Gfch a8
20 F ITTaH AR & a7 HfAahT St Fated e
STAFAT A 8, FRIgRY A T I AAfAGR T8 g1 Ayl

(3) No, the Supreme Court cannot cancel A's licence
to practice, since an advocate's licence to practice,
once granted, is irrevocable on any ground
whatsoever; /78!, died AT ‘®’ ST HRIGA Sl
AT UF T 81 e Gehdl, Gfch HTa=hI T gl oo
Teh IR ed @ T g, fhelt omyR W St &S gt
uRada g |

(4) No, the Supreme Court cannot do this, since its
powers of punishment for contempt may extend
to fine or imprisonment, but not to cancelling an
advocate's licence to practice. /78, ¥dted <A™
TRt ST AT AT deh TR 8, IR HAfSe<ht a1
SRR T A U IE e deh Ag) |

(5) No, the Supreme Court cannot do this, since the
act that A committed is not contemplated within
the boundaries of an advocate's responsibilities,
duties and therefore, is entirely unconnected with
the licence to practice. /78!, Talea =umaTe ¢4T 81
F Fhdl, Ifch P St ‘&’ 7 fohar g sifda<ht & it
SR eRaTfre ht T & o fRreRa 7t saferg gofear
FRIgRT & A 0o ¥ S &

Ans. [4]

According to the Advocates Act, 1961, who among
the following are least likely to be admitted as
advocates? /sifa=hr fafFam, 1961 & oguR, R & &

influence a Judge of the Court. A's punishment for I HH HHaFaT ST aht ST ufoRpetd
contempt, the Supreme Court directs that A's (1) Persons who have been guilty of a traffic offence.
licence to practice as an advocate be cancelled. Can <R STt ATARITd STORTY S ST &1

the Supreme Court do this? /& Sit sifda<hr g, S
Tafea ararerd Y SraHT=ET AraTerd & ararefier & yanfaa
& & WATH e h SIRT HAT 91T TT1 &6 Rt SEHEAT &6
e ifea w7 Y, gdfea =amare &1 A& &F & @
S1fraht & ®u # Srd T 1 Al o I fohar sQ1
o= ATATd gg a1 e?

(1) Yes, the Supreme Court can cancel A's licence to
practice as an advocate, since it is a Court of
record and has the power to punish for contempt

of itself. /gf, Gdatea =A™ rfda<hr & 30 & g wrd

(2) Persons who have been guilty of civil contempt of
Court. [aafe S <araTera & R a1 o1 afl 21

(3) Persons who are convicted of an offence under
the Untouchability (Offences) Act, 1955. [aafth St
TomRd (SmRTy) fAfFem, 1955 & Sreft SroRTy @t
AuR—g g e |

(4) Persons who have been accused of an attempt to
commit suicide. /aafh STt STHET & T T A
gl
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(5) Persons who have been interrogated by the police
in the past. /aafh 98 gd # gford &6t 3k 9 ggdre &
RERT

Ans. [3]

Which of the following Statements is least accurate
about the restrictions on employment of advocates?

1t ranrait & FRaie R e & IR A A 9dl 22

(1) A practising advocate cannot personally engage in

67.
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Which of the following Statements is least accurate

about the specifications regarding an advocate's

sign- board? /sifa~ht & o= ug & Hey A fAfear &

ar # Ayl A | i 91 FUF FH 8 @)

(1) It should be of reasonable size. [ag TSl 3MAR &7
gHT =nfgul

(2) It may State the advocate's area of expertise or

practice. /38" ifda<ht &I fagtwaar ar gy & &7 &

any business. /AT &R arer 3ifdawht aafthd 30 & H gl

foneft caeam & A8t & TeRdT) (3) It should not State that the advocate has been a
(2) A practising advocate cannot be the Chairman of a judge. / 39 U8 S el g A1fey foh srfdashr

Board of Birectors of a company. [G&eTd & arelt grarefier w1 8|

SiTRrerh ehut & f2Teh Hee ot sreel Tl gt Tehdr!

(3) A practising advocate can be the director of a
company. [TehTeITd e T SAfahT chut T fA2ereh gt
ehdT 81

(4) A practising advocate cannot be a full- time
salaried employee of any person. / ThTATd
A arert HAfda<hl o1 fhelt aafth 1 gdaret™ aa ol
FHHARY T8I 8 FehdT

(5) A practising advocate may be a sleeping partner
in a firm./aa&red & aren sifde<hr ufasE & [Afeka
HrfleR gt Feh|

Ans. [2]

Which of the following Statements does not

describe a duty of an advocate? /ff= & & i 91 U=

31fAG=hT o hxied hT1 gufq ) AT 87

(1)  An advocate should not appear in a case in which
the advocate believes that she will be a witness.
[ 3TfeIahT hl I UehvoT | TLT gl 8T Ty foaw sifdehr
&1 71T & fob ag 3T aneft ghm

(2) An advocate shall defend a person accused of a
crime, regardless of the advocate's personal
opinion as to the guilt of the accused. /sif&a<hr
SURTY & fAGh Af<h T T91d BT, 39 Teof & fom foh
AR Y I & o6 sifdrges gt &1

(3) As advocate has a duty to protect any information
that the client communicates, even if it is in
furtherance of an illegal purpose. /Sifera<hl &1 St
2 T qafepat s ff SRt TUfT e, ST TReEUT &R,
oot & afy srder yie & SrgEROT A B

(4) An advocate must not, at any time, foment
litigation. /sifashr &t forelt oft Tmar gencRarstt @t =&l
HEHHT =TT

(5) An advocate must act only on the instruction of

the client, and no one else. /Sife<hl @t dhae
Tafwhel & IIRAIR & Pl w1 a1y, fredt iR &
SIIR g

Ans. [3]

68.

(4) It should not State that the advocate is a member
of a bar council. /388 T8 & =&l g1 TRy fh
JfAThT TR DI T TG &

(5) It should not State that the advocate is associated
with any particular organisation. /358 Ig &g =gl
g1 =1y fon srferahr foneht TireT fadiy & 9gg<h & |

Ans. [2]

A, an advocate, received money on behalf of a
client, C. A did not intimate C of the receipt of
money, but noted in his accounts that he had
received money on behalf of C and set aside the
amount as his fees in full. On discovering that A had
received the money, C demanded the money. A
assures C that once the proceeding is over, C would
have had to pay A fees anyway, and that he has
already recorded in his accounts that his fees have
been paid in full. In light of these facts, which of the
following Statements is the most accurate
application of the principle below? /@& Sit sifSa=ht 8,
IGA gafarrer 1 f aRE @ o= Ut fRam & J 71 & o= A
Fe Fl STHERT T8 & oft, TR v @ 7 &S frar
IGA 1 H G | ¥4 U fRar ot R uf it I9E R gk
% U # U R f&an g gar R R fF & 7 99 A
forar @, 7 3 4= &y |7 hY1 & A 7 R sy T foh weh AR
St sdargt gt gt sy, 7 ot fREt off a6id | e
WA AT ghm, 3R gg fh ST oA @ 7 ugs @ asf
&R forar & fF 39 Yook T ORI T o R mam g1 3=
awt & uReg #, AT svy=T & @ ol a1 = 9 & Rgia
R Haifds Tt ugw 8 ?
(1) A has clearly fulfilled his duty by recording in the
register that he has received C's money as fees.
@ = dfSier & g SifHieaH eech foh ITA 1 & 44 S[edh &
¥u # uTed faRaT, 31U dheied el TE AT UTer R 21
(2) A had fulfilled his duty by recording in the register
that he has received C's money as fees, but should
have handed over the money to C on his demand.

/& A UfSient # g SifAee shedh foh ITA 11 T & Yooh &
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¥ § ure {3, SR cheicd ol ORT ORI B, WReg 39 7T B
IGh! AT TR 4 GY& AT 9118 |

(3) Aerredin setting aside C's money for fees without
written permission. /T & &= et AT & AT e &
forg STuTd AT & A B

(4) Ais entitled to his fees, and was within his rights
to set aside the money as fees, as he noted in his
accounts that his fees had been paid in full. / &
U ek P §RER &, 3R Yo & IU H o4 Pl SURd
AT IGF YRR F e AT, ST foh I 3vx @ral &
ot foha o foh et R[ech T TR ST oA fam mam &1

(5) The money was received on behalf of C and was
not from C, and A was therefore entitled to set the
money aside as fees. /4 7T I aXt & W fohar T o
3R 77 9 71, 3HIY & & I Yok o TU H UK A I
FhER AT |

Ans. [3]

C has engaged an advocate, A. B is C's mother and

she asks A to withdraw the suit filed by C as the

litigation is causing public embarrassment to the

entire family. What should A do? / #ft 3 ga& ahiet T &t

Frgen farar g1 &t <t <t 71 & ofik ag T | ot gRT E”R gaRe

aae o & fog wgdt @ wifh gaem R aRer & f@g

grdstfAen rffeft 1 SwRoT a1 3BT &1 A ) = =T Tnfae?

Principle: An advocate has a duty to act only on the

instruction of the client, and no one else. / f&gia:

ek dehiet <Rl shded @ foh ag Shaet utges & fAEer uR i &,

foreft ofix & =1

(1) A should withdraw the suit since the family name
is at stake. /& ! ag IIUY AT AT Fifeh gRaR w1
T &g R Bl

(2) B has a fiduciary relationship with C, and A would
therefore be obliged to withdraw the suit for the
benefit of the C's family on B's instructions. /& @1
g ¥ iy @9 g, 3R 39fely & & forg @ & SR aR T
& URaR & fgd & g are araw &1 Stes B

(3) A has a duty to refrain from fomenting litigation,
and should therefore withdraw the suit. /& T
Fied g foh JereAaTSt! i IFT I 71, 3R 4fely I ag
g o1 =il

(4) A has a professional obligation to act solely on the
instructions of the client, C, and should not
withdraw the suit on B's instructions. /& &
TR AR 2 O el ST qataRhet 7 & SR
TR R e, 3R @ & SN WR a1& aTug gl o1 a1y |

(5) A should withdraw the suit as B is C's mother, and
is therefore A's client as well. /& @l drc amUg 4T
a1y, St foh @ &Y | g, SR 9oy ag oft & i A &t
Hafaend g1

Ans. [4]

70.

89.
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A is one of five children. A and the other four
siblings are all equal heirs to a family property. On
account of a quarrel between the siblings, A
approaches an advocate, C, who advises them not to
approach the Court and to instead settle their
dispute amicably. A insists that C take the matter to
Court. C is later Sa reprimanded by the Bar Council
of the concerned State, for not having insisted on a
settlement. Is Cat fault? /e g << § & Teh g1 & AT
g IR gRar f dufar & gu= aiRa & 1| gaiet & di=
g hl Ioig T & A 1fYa<hr 71 @ duh forar, fa 38 @
& 5 <grarera @ dudh 7 fFar Sg. S9d g e+ e
&t derdar @ fAgerar sl & A sk Rar & 7 awel &t
YT # & SQ1 T & 91E J Gafda oy H IR Hifke @
FArerT &1 SR 9 37 & g wear s FT IR w E?
(1) Yes, Cis at fault as he effectively Se pushed A into
litigation by not providing proper advice. /&, T qf¢
R g, 4 fh 39 IRT I8 UeH T dWeh & ol
encHaTSl # GhelT|
(2) No, C has. fulfilled his duty by advising the client
to avoid litigation and by encouraging settlement
in the given case. /A&, 7T = HafdereT sl YerRaTSH ohl
T T TATE & gU SR 3T U Amet & golg ot dgrar &
8T 37U+ ey ot g fopam 81
(3) Yes, C's duty to refrain from fomenting litigation
extends beyond mere advice and he should have
avoided litigation at all costs. / &, 71 T i HenaH
HI IFIH & TI G FA & A T8 a1 4 ot ot ok
I & FAd R JheATTSI Gl STelT A11eq |
(4) Yes, C's duty to refrain from fomenting litigation
overrules his duty to protect his client. / &, 7 @1
e ¢ b Sue Hafeher & TReror & fAy o= ahwied ot
TR §Y HhaHdTSH hl ShaM I T |
(5) Yes, C is at fault as he did not insist on a
settlement and readily agreed to litigation. /gi, 7
IR R 8, ST oh I8 Gorg W SR 8! far Jur genaaarsit
& folq s=oTgde GgAd gal

Ans. [2]

Family Law
A, a Muslim man, and B, a Muslim woman, are in a
relationship; A and B have a child, C, out of wedlock.
Later, A dies intestate. Which of the following
options is the most accurate application of the
principle set out below? /&, St gfeem emesdt ik @
gfem oiRa g, ddui A g1 Fawm@ F Ay Rag @ &: ag
# & N qg adtaa frg e gt ) iR & Rigia = A=
Y=l A @ T 91 fasey affds ad-ad ugws gt g1
(1) Ccaninherit from both A and B, as C was born out
of wedlock. / 7 &1 & 3R W T ITRIMYPR T YehaT &,
TR 11 T ST+A faaTg & W g 8l
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(2) C can inherit from neither A nor B, as C was born
out of wedlock. [T @ & 7 T T ITRIARR UT hdT ©,

@ :7737746465 ¢
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(4) BCD Bank will be successful in its proceeding
against XYZ Private Limited because the corporate

St fop 11 o1 ST+ fdaTs @ W gem 8l veil will be lifted by the judiciary, but it can only
(3) C can inherit from B through A./T STRIfA&R & & recover monies equivalent to A's seventy-five per

ATeH 9 G Y U7 GehdT & | cent shareholding. /@ 7 g & ¥ ¥ & Ugde faifds &
(4) C can inherit from A through B. /T STRIf&R @ & T Frfarel & gther T FRifen i Terre =maanfereT

oeH § & O UT Gehdl 21 FI 3R T I&T foraT ST, TR g8 dhaet & & TegaR ufavd
(5) C cannot inherit from A. /7 ITf¥%R & 4 g1 ur R R o THRET U Gl &1 I X TehdT B

GehaT &1 (5) BCD Bank will not be successful in its proceeding

Ans. [5]

Company Law
A is an executive director and the majority
shareholder of XYZ Private Limited. A borrows Rs.
25,00,000/- from BCD Bank and invests such money
in additional shares of XYZ Private Limited,
increasing A's stake in XYZ Private Limited to
approximately seventy-five per cent. As A is unable
to repay the debt to BCD Bank, BCD Bank proceeds
against the assets of A and XYZ Private Limited for
recovery of the monies borrowed by A. Which of the
following Statements most accurately applies the
principle below? /& ®wRi&%R P2 au1 a ¥ & uEde
fafade =1 9affdes R aREF &1 & A @ 7 g dF T Fug
25,00,000/- =T ket forar 3R S9aTr Adw g ¥ & uigde
fafis & sifalk~h ot & fovan, & &1 gia srgwTa: dgeaR
ufdera g ¥ & urgde fafits & 9a1 | & & @ 7 9 d & g
WA et 7 7 FHd | & @ 7 9 deh A & it duar &
R auwrd fr R AR PR Ig e RN ageft &k Pgaz
 urgae fafies & favg rfard i iR & Rgia w A=
FYET A @ FF G971 YA Faifds adt-agt ug+ 82
(1) BCD Bank will be successful in its proceeding
against XYZ Private Limited because such money
borrowed by A was utilized for the benefit of XYZ
Private Limited. /@ 7 9 d& T ¥ & Ugae e &
feg Srut shrfarsl | Whet @ RlfR & el 3R F IUR
T U = 1 U T X & urgde fifids & wrae & fow
foraT T
(2) BCD Bank will not be successful in its proceeding
against XYZ Private Limited as XYZ Private Limited
has not directly borrowed any money from BCD
Bank. /@ 7T ¥ & 7 ¥ & ugae fafdds & fovg st
HRIaTE! # gthel T g UTQ ST ok @ ¥ o urgae f[fids
AW T Y I T U IU ¥ 49 IYR gl forT|
(3) BCD Bank will be successful in its proceeding
against XYZ Private Limited because the corporate
veil will be lifted by the judiciary, as A is an
executive director on the board of XYZ Private
Limited. /@& 7 ¥ §& g 3 & Urgde fafits & O st
HRIATE! § Hhel BTN iTch [ITH TehIdl =TauTferent i 3R
@ Ia1 forar g, S R g 3 9 uRde iR o &
FHrfhRY Feeres g

88.

against XYZ Private Limited as A does not hold a
hundred per cent stake in XYZ Private Limited./@&
g dc ¥ 3 o U1gde fofids & favg oot srrfargl # awhe
To1 g uTQT ST foh & & Ut g ¥ o ursae fifids & @
gfaerd fewerd 78t 81

Ans. [2]

The articles of association of ABC Private Limited
provide that its members shall transfer shares to a
third party only after first having offered such
shares to the other existing members, on a pro rata
basis, at the existing market value of such shares. D,
a member of ABC Private Limited, gets an offer from
E, who is not an existing member of ABC Private
Limited, to purchase all the shares held by Din ABC
Private Limited for two. times the market value of
the shares. D transfers the shares to E on the terms
offered by E. The board of directors of ABC Private
Limited refuses to record the transfer of shares on
the grounds that the transfer' is ultra vires the
articles of association of ABC Private Limited. E goes
to Court against ABC Private Limited to enforce and
record the transfer of the shares. Which of the
following Statements most accurately applies the
principle below? /& @ 7 ugde fAfRs A dwar
SafraaTaet gy FRAl @ fF 39S g Iru sielf o
3iaRor AR Uetr dt had uget & I i I TR fem=
HEH U A & 918 I 32 Y faewe IR Hiaa w
STIUTTAH SHTYR R H¥ | & @ 7T urgae difits & ag g
T @ o & @ 7 uEae s o Reme gew 98 @, v
urar for ITHY 3R @ uTRa & @ 7 & |t siar sieif & g
TR &R R TAEAT &1 9 7 S <Rl 37T T 3faRor  Fil ek &
fory g & REya = o & @ 7 ugde e &
frares deet 7 aiil & SFaRUT Y gof PRt § 7T I STUR W
= faar fF eierur & @ 7 urgde fafRs & safaHt &
AMFRIT 81 S: IraTa § & @ 7 urgde faffes & foeg
3i2ff & SO S &S FA & wada & fag ugEm A F
fgia R A= syl § @ A9 91 FyF affdes gdear @
e gt 81
(1) The transfer of shares shall be upheld because E
paid more than the fair market value of the
shares, and is therefore exempt from the
requirement of the articles of association. / 3ieff &
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SfAR0T <t SIfAGE fohar SITg Rilfeh § A siarf & IR g
¥ sfdd & am fhar g ok safay dem &t
Sfaf-TaATach Y JTaThdT & qh 8

(2) The transfer of shares shall be upheld because D
should have secured the approval of the board of
directors of ABC Private Limited prior to
transferring the shares to E, and therefore E is not
at fault. /sisrf & SfaRoT At SifHge fohar STg it @ 3
% @ T Uigde ffie & M ded &1 gd sigrled € @t
3ixfT & SHaRoT &1 U7 R fora o, 3R 3HfY © Tk W 8T
gl

(3) The transfer of shares shall not be validated as the
principle of caveat venditor' (seller beware) is
applicable in all contracts of purchase in India /
3ieif o1 afcRoT fafdy A=y gt ghm rifes fachar TmaeTt @
gl TRd & @lten & Tt sreet R ugha gl

(4) The transfer of shares shall be upheld because
ABC Private Limited will be deemed to have had
constructive notice of the sale of shares. / 3ieif &
SiaRor ot IfAgE fRar SITgm =ifh & @ 7 urgde s
& U 32N o fehar Y S I g1 AET Q|

(5) The transfer of share shall not be validated, as E
had constructive notice that D needed to offer the
shares to the existing members of ABC Private
Limited prior to transferring the shares to E. / 321
o} foh T &l § Y SiRTT T IHARUT A T UgA & @ T UIgde
fifde & A Tl & il @1 uE wxA Sl
3Magehdr oY |

Ans. [5]

Company A is expanding its business and leases a

piece of land for three years, and agrees to return

the land without any modifications to the lessor.

Since the land is ideal for agriculture, it constructs a

large storage shed on the land. Which of the

following Statements most accurately applies the
principle below? /& &a-it 3 3rg=T sgqwr fawga frar @
auTr Y@=t o1 i af & fog ugr fRar g, ok ugrerar ot wiE
guR fre o ff e A agafa M g1 gk g F &
fog ongsf g, suR fasne d@=as swR @1 Yy w FAwfor

Rl 1 & Rgia w® A syt § @ &9 91 su=

watfrer adt srges gt & 1 -

(1) The expenditure on building the storage shed is a
capital expenditure, since the storage shed
provides Company A with an enduring benefit.
[ETae BuR & AT e W gen &g gsid @ g, 9fh
TG BUR & U hl WY T T TG T &

(2) The expenditure on leasing the land is a M capital
expenditure, since the land to provides Company
A with an enduring benefit. / [ Ugmor W =™

92.

@ :773774 6465 ©
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GStiTa <o 8, dfch 9ff & Ul TR a1 1 gaee
FRATE |
(3) The expenditure on leasing the land as well as
building the storage shed is a capital expenditure,
as it provides Company A with an enduring
benefit. /9 2T FROT R HF FI97 BIR HT @ 4 g
UStiTd &g §, ST foh a8 & Ut ot SRR &1 ot T
FRATE |
(4) The expenditure on building the storage shed is
not a capital expenditure, as it only provides a
business advantage and not an enduring benefit.
| ST BUR & AT R e gsfind @3 T8 8, S &
Ig hdl AGHTY ATH <Al UTaYTH T 8, WU AT T 81|
(5) The expenditure on building the storage shed is a
capital expenditure, since it provides Company A
with an enduring benefit, but the expenditure on
leasing the land is not a capital expenditure, as it
only provides a business advantage. /939 8UR &
et R =57 dsfind oo 8, 9fch a8 & ot rh A
T UG T §, AR U0l Y R & Yelid &g
g1, ST foh a8 charel SaETd A1 T UG T 6 |
Ans. [4]

In a meeting of the board of directors of ABC Private
Limited, it was proposed that DEF Art Supplies
Private Limited shall be its sole supplier of all art
material. This resolution was passed by all directors
unanimously. It was later revealed that G, a director
of ABC Private Limited, had not revealed that G is
also the majority shareholder and chief executive
officer of DEF Art Supplies Private Limited. The
resolution was sought to be set aside. Which of the
following Statements most accurately applies the

principle below? /& @& 7 urgde fafaRe & A2 dea i

A5k # gg U fohar mar fF 9 s T 3 gwEs urEde

fofiee sadht aft amnft @1 were sgfderst ghfti 59 uwmg

=t gt ARl & gdamfa @ uilRa foran € & g sgifea
gen fh, & @ 7 ude fafls @1 R & us ¥ omé

g uigde fAfite &1 9affde R urRE R g=

iR SRR off &1 waTa SruT SR |t A AT iR

& Rigia = 9 FyEl § § 9 sy gaifds T8t ang

garg?

(1) The resolution shall not be set aside as DEF Art
Supplies is a separate legal entity from its
shareholders and directors, and therefore it
cannot be penalized for an act done by G [u&mE
SR A8l g ST ok I T S Twrget gueh fafdr awaa
T S SirerRent gt fAderenl @ g, ofk sufow 3@ & Y
3R & fohy MY 7 & forg & 781 fohar ST Fepa|

(2) The resolution shall not be set aside, as G's failure
to declare an interest in DEF Art Supplied Private
Limited is not culpable. /v=ara SURd =gt g, ST fah
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IS B AE wssl Uigde fifids & © &1 oA f@d @t
SAfeR 7 &A1 d&1T Tl 81

(3) The resolution shall be set aside as G did not
exhibit the duty of care and diligence as required
by a director of the company. /U=dTa 4R I, ST
foh & = 39 Gadhar 3R IURAT & dhcied o1 e 8T fohar
STt R dhut & fderen Y ok & foma ST aifesd 81

(4) The resolution shall be set aside as G is the
majority shareholder and chief executive officer of
DEF Art Supplies Private Limited, and was required
to declare the same to the board of ABC Private
Limited prior to the resolution being put to vote,
and refrain from voting on that particular
resolution. /S<Td 3TUTT BT, Si4T foh &€ T S11E TwIgST
grsde fafide o1 & qaffden ofr gRe JuT g=&7 FwRIAR
SfIRRY 8, 3R IV & @ 1 HSeT & GHE 3HhI TIVUTT TEITG
IR AdEM 9 gd a1 3R I9 919 fAy IR #aa § ser
3T ch Y|

(5) The resolution shall not be set aside, as the
resolution was passed unanimously and would
have been passed so even if G had informed the
board of G's interest in DEF Art Supplies Private
Limited. /udra 31U T8l R, ST foh vaTa adawafa
T uria gar o7 R 3t avg uTika off g1 SIg o g Ak ®
3 HEd Pl U8 T A IR Uigde e # © & fga &t
T HI Bl

Ans. [4]

Environment Pro. Act

100. A tribal hunter, A, enters into a national park and

uses a bow and arrow to shoot and kill a leopard. A
then skins the leopard and sells the skin to B,
another tribal hunter. B goes to the city and sells
the skin to C, who is an avid collector of rare animal
skins. In light of these facts, which of the following
Statements most accurately applies the principle
below? /& SeTfa AR §, & = A¥H Ser A gHas k-
A T FEIATA fohar R dgy &l AR Sl & 7 fiR dgg
&I @ ARt ok @ @ &t &= & S R e SHenfa
Rrrdt g1 @ 3 AgR SR @ 1 A 39 & St R gety
SFaR] Y @I & ATeTd GUgehi g1 37 a24i & uRved &,
A aret Rgia R A= wy=t & @ 69 91 Fy= gaffds ad
U @ ug« gar gl
(1) A, B, and C are all likely to have violated the law
for the hunting of a scheduled species, for trade in
derivatives of a scheduled species, and for
possession of derivatives of a scheduled species,
respectively. / @, @ 3R 7 3 G¥ad: AT YA Sfia
T T Jeerad fhaT 81

@ :773774 6465 ©
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(2) Cis likely to have violated the law for possession
of wildlife derivatives. However, both A and B are
likely to be exempt from the law since they are
members of a tribe that depends on the forest for
their livelihood. /3 S¥ad: g Sfig ged=1 ot T&@ &
forg LA o1 IowieA foRan &, auft & ok @ ST Feyaaan
HH G P a1 & Gfoh 3 ST o Ta g Sit sht AT &
TRkl

(3) Ais likely to be have violated the law since hunting
of scheduled species is prohibited. However, both
B and C are likely to be exempt from the law since
they were only dealing with the skin, and were not
directly or indirectly involved with the killing of the
leopard. /& % AYIIAT HEH H Ieerad fohar Ik
Sgfad Sfia sifaat @ AR wear ufadfad g | qofa @
3R 71, ST FHaaaT HH b & Yfoh Soi7 chadl °H el
et famam ¢ SR Ucaer 1 Wig ¥U § dgg A AR H -
BEEEEDT

(4) Both A and B are likely to have violated the law for
having hunted a scheduled species, and for
trading a derivative of a scheduled species,
respectively. However, C is likely to be exempt
from the law since C is only involved with
collection of rare skins. /& U1 @ &l & srgyfed S
St 1 RIeeR & foIg S 1 Sowioe fohaT 8, SRS
YR & FA~ & AR & oI i T o, iy a1
FIA ° GHTAAT J<h & Ifch T had gord TIA o Heherd &
BIEIRCE!

(5) Both A and C are likely to have violated the law for
having hunted a scheduled species and for being
in possession of a derivative of a scheduled
species. However, B is likely to be exempt from
the law since B was neither involved with hunting
the species nor was he found in possession of the
derivative, and was merely acting within the scope
of his fundamental right to carry out any trade. /&
JUT T &H1 A HHaaAT ggad st Sifd & fRAeR & g
3R agfa Sfta Sfd & a1 &l seol § @ & folg
I o1 Ioeio [hdl g, IUNY, @ I9IdaT A 9 Ih &
gfeh @ = af sfig sifa & R & afffera o 7 gaa= @t
ool # I@T URIT T, R hadl fhdl AUR & I &
30 Hiferen SMfeRR o 31aR sl o IgT AT

Ans. [1]

Labour & Industrial Law

93. A is an accountant at a law college and draws a

salary. A is also on the board of governors of the
college as a representative of nonteaching staff,
and votes on any administrative decisions that
come up before the board of governors. Which of
the following Statements most accurately applies

the principle below? /& fafY wgifdensm & dEHR 8
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R da9 Ul @ | & HeEarea & fARers dWea # oft

319teiforer af & ufafafd & vu d @ ok Tares ved & 9uar

foreft oft uamafaes foeR-fomsf R #q &=ar 81 =7 & Rga

R = FyEl § @ S wy gatfds 98t wu 7 @ny gian

gl

(1) A is a workman as he clearly does work of a
supervisory nature as a member of the board of
governors. [@& ASIR ¢ e fh a8 wWe ¥u 9 srefrenfia
WY ol Y JTeleh T8t & G & FU § shdTl g

(2) A is a workman as his primary duties as an
accountant are clerical in nature and he works for
hire. /& Toigy & ST o ITaRT Tufies i A@ThR &
30 ¥ ¢ of wey # feifddhig € ofk ag fawe & fog oard
FRAT Bl

(3) Ais not a workman as he is a salaried employee
and does not work for hire or reward. /e Asig a8l
& St foh ag Aaivht et & oiik fare ar uiRaiftes ©R
Pt T FRATE |

(4) A is not a workman as he is a member of the
board of governors and the nature of his work is
managerial. /& FSIgE T8 & SidT foh ag HaTcreh Had ol
e g SR WU H IqahT R UsiHhiy g

(5) Ais a workman as his work as an accountant is
clerical and his work as a member of the board of
governors is supervisory./ @ HsIgY & S foh I
P AGTHR hT AU &1 § 3R TaTeTeh Hed & 9eg &
30§ IGehl i Srefterofia o1 g

Ans. [2]

A is a workman who works at a welding workshop in

a factory. A has a history of previous eye disorders.

Despite being aware of the same, A continues to

work at the welding, workshop. The very nature of

work caused further strain on A's eyes and resulted

in a permanent injury to A's eyes one day. Is A

entitled to compensation and why? /& #AsIgR & R

therdl § FATSARY ShRIATEAT § SR hedT § | & ahl QR o1

A 1T ¢ | D STRE g h Joa ag FEEd

Frdret # fFRaR wrf &var 81 wrd Y sda ugfa & & &Y

3™ WR HR TR ST Achiora Uah R & fir s o wurdht

°Td g AT TR & GATIS T gheR & 3R Fl?

(1) Ais entitled to compensation from A's employer
because A suffered an injury in the course of
employment and the question of A's negligence is
not relevant. /& & AT @ gamast & T & ghaR &,
Fiifch & e & sd 7 dic @ 7ffa gom g ok & ot
ATORATE! T U ST g1

(2) Ais entitled to compensation from A's employer
but the quantum of compensation will be nominal
due to A's contributory negligence./ & H3mast &1

@ :773774 6465 ©
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BHER § & h IR ¥ HIR J3ATGSt chl AT ATH AT chl
gt & <l ATRaTE! & HROTI

(3) A is not entitled to compensation from A's
employer because A suffering an injury to the
eyes was perfectly expected due to A's previous
eye disorders. [ & fFalhT @ G3MTTSt &1 & §haR ol &
Fiifch & ol i@l <l dic § Ufd g1 & & gd i@ ol
Tead! & RT fRgd $U & erafard ghar o |

(4) A is not entitled to compensation from A's
employer because A suffered the injury to the
eyes due to previous eye disorders and not
because of A's employment. /& & AT & Famast
I & ERER gl & Hitch o 3@l hl Il & TR gd i
3G Y TSTS! § §3HT ¢ 3R & & (ATI<hI & HROT 81 |

(5) A is not entitled to compensation from A's
employer because A did not bring the previous
eye disorders to the employer's notice, who could
have then given him non-hazardous work. [& &
fYa1<hT & H3TaS! T & gehaR a1 & Hifch & QR 3G
Teae! ol e &Y SR & T8l o, a’AT 98 9 R
GARATR hTH & Hehal AT |

Ans. [1]

Law Of Torts, M.V. Act and
Consumer Protection Law

26. A offers to buy B's motorcycle for a price of Rs.

35,000/-. B replies that the motorcycle may be
bought for Rs. 45,000/-. A immediately lets B know
that it is not acceptable. Ten days later, B agrees to
sell the motorcycle to A at at Rs. 35,000/- and
communicates his acceptance to A. Is there a valid
contract between A and B? /& & @ il Al gEfore
JUY 35,000/- A A Fiaa @A @1 v o1 v R
forar @ A Sae fear fF AR aEfae Fuw 45,000 /- w®
A S Ghftl & A depred @ H 79 w2 ear R ag
et 78 81 59 R @%@ Aier e suy 35,000/ @R
S99 & gHd g T 9T U A 99 § & Rl S
T T Tg < 3R T & Aeg Afdy g d@faer @2
(1) As B has accepted the initial offer made by A and
communicated his acceptance to A, there is a valid
contract between A and B. /[@ 3 ST fh & i sk @
fohY T IR URdTg ot 719 T 8fR & &t Sruet Hed &
ITd ol o, 3afere & dur @ & g fafd oy dfaer g
(2) B was only negotiating the price and once it was
determined that A would only accept Rs. 35,000/-,
B communicated his acceptance to A and this
resulted in a valid contract between A and B. /@
Thadt himd F FETSh R @ o7 3R s aR AufRa &
foram a1 foh & haet TUT 35,000/~ & HSR I @ = SOt
At & o GO foRaT SR Ig AdSIdT & du1 @ & A
fafey A= dfder 81
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(3) B made a counter offer that A rejected, and since
the counter offer caused A's initial offer to lapse,
there is no valid contract between A and B. /@
ufd vara fohar O & 7 amieRr o= fean, ofik 9fe ufa
Ud ¥ & ol URINS U1 AU ¢, 3id: & a1 G &
Her his Y A, Sfeer 6t 1

(4) A failed to expressly revoke his initial offer, and
hence B accepted A's initial offer resulting in a
valid contract between A and B. /& 31T URfA®
UG IE, hed bl WE e J et @1, iR squag @ A &6
& TR v g o, g asig § & duwr @ & 9
fafey oo dfaer 81

(5) A'srejection of B's offer is a counter offer, and B's
acceptance of A's counter offer resulted in a valid
contract between A and B. /& @& el UEd AR
A1 v varg SR @ @1 & Rl Ufd URdTd °HAT & 99T @
& i fafey o= 9fer &1

Ans. [3]

A was working on the first floor balcony with some
heavy tools. While working, a tool slipped out of A's
hands and fell down on B who was walking on the
street below. The weight and sharp parts of the tool
caused injuries on B's shoulder, back, and legs. B
files a suit against A to recover damages for the loss
suffered. With regard to the pleadings to be filed by
both parties, which of the following Statements is
the least accurate? /& Ugell #fSid & RS R & URY
STRY @ 1 &R @1 T | hrf & <R ek SfiSTR & h g1a @
foraer R @ R T St - R el J T @I ATl SR & uR
IR YRR B q @ &1 s, dis R uig R =18 o1 @ 7
F & fReTe g aifa &t st & g arg af@e foran =t
geil ft 3R & af@e sifgeal & dau & = wu=f 7 @
I 9T HY T @ FH TE-Tgt a7
(1) The plaint must include a description of the loss
suffered by B and the amount of damages being
claimed. /am& oo # @ &Y 3R F T TG YT &Ta aret
TR hT A & Fawor it afferd w8 |
(2) The plaint must include a description of the
weight and sharpness of the tool and the manner
in which B's injuries were caused ./ @1g 93 # 3SR
& IO qUT e 3R aiehT o as @ ot e 3Mg, $9eh
fareror @t FfFfera e St 81
(3) The plaint must include the fact that the tool
slipped out of A's hands and fell on B who was
walking on the street below. /a o & 39 dF &t
Tfffifera e ST foh SfGTR & & g1 @ fihga mar ok
2 el 7 7T @ @ W AR
(4) The plaint need not include a doctor's report on
how each part of the tool led to each of the
injuries suffered by B. /ag o3 & Rifthcdsd & 39

62.
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gfdde ot Gffiferd o &t STeed gl ¢ foh e SR &
& 9§ @ diel § 7 gal
(5) The plaint need not include a description of B's
reason for walking on that street. / ag ud #
39 faerur ot afffera & Y Siea 781 & @ ot eft A
Tl T T HROT AT|
Ans. [2]

The rule of School A is that students' pet dogs are
not permitted to enter the school's premises.
Student B, who is blind, brings his guide dog C into
School A. Which of the following Statements is the
most accurate application of the principle below? /

e ¢ o1 e @ o sl & urerg Fl ot T aRER d

yaer Y srgafa T &1 o= i, St ofun @, orua Anfecfa =

€t ot Txet ¢ A oran g1 fF=fof@a § @ o9 a1 sy ik g

¢ Rgia o1 9a@ géie srguarT 82 (1) Since

Student B is blind, he would not be able to come to

school if he cannot bring his guide dog C into School A;

since this rule does not intend to bar blind students

from attending school, Student B may bring guide dog

C into school. /dIfe & @ 58 g, g8 fJeed o= & a9

T8t gRT afe ag 91U uY uesfe ot fAEme™ & & 3R A8l o

ehal; dfch 39w 1 Haeg e oEl & fAerea J o 3

gfSia = a1 181, B @ U Uasieh g 71 &l faermer & s o1

el

(2) Since the guide dog C is a pet dog in this context,
Student B cannot bring guide dog C into School A.
[=ifeh g 71 uTerq T 9 HaH H, o @ uY wagfe g T
! o ferera & 81 a1 GehdT |

(3) Since this rule does not make any sense in this
context, it is invalid, and Student B can bring
guide dog C into School A. /df% @8 g 3 e &
HIE 31 g1 a1, I8 fafd 717 78, ofk & @ uy sl
Fd @ I fAETerd & & 31a A1 GehdT &

(4) Since Student B is blind, he would not be able to
come to school if he cannot bring his guide dog C
into School A. However, according to the context
rule, Student B must look at the context of the
rule and avoid bringing the guide dog C to school
as it could hurt other students. /Jfh B @ A58 §,
gg fdereg o & 9wy T g utem, afe ag s uy
yesfer g 7 Y feera & & T8 o dohar, qunfd, deef
a9 & SuR B @ &t g9 & e & ok @ @1fey
JuUT I 71 I [FerTerd = il e T1fgy S o ag o=
farenffat @t smgd R TehdT o |

(5) The school is required to apply the context rule
while deciding each individual case of violation
and it will up to the discretion of the school
whether to punish guide dog C for violating the
rules of the school. /faenea & deof Faw @R &A1
Fifed Jeeiad o Udeh dAfches AT vl 9T S 99, 3R
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Ig faemea & fAde R gh & 9’ ot a1 faemea & Aawt
T IeTT et oh folQ Gt 7T bt &fSd foham S1TQ |
Ans. [1]

B employs A to be the conductor of a bus owned by

B. One day, A drives the bus negligently and injures

several people on the road. Which of the following

Statements most accurately applies the principle

below? /@ A & & @ & w@fAa areft 99 & gRarere & dR

R fAaifSia fram gas feT & 2 99 &t aToRard @ =T ok

Sh- R G @l &t g R g iR ae Rgia w

A Al | i a1 A gaifdes adt-ad uge glar 8l

(1) B is liable for A's negligence, and is liable to pay
compensation to the victims. /@& &I ATORaATE! & fog
T fSAaR 8, ofik difedt ot gamast &1 ia & & g
fSaR 81

(2) A and B are both liable for A's negligence. /& &t
ATRATe! & foT & aur @ gHf SHRaR &1

(3) Only A is liable for A's negligence, as B did not
dictate how A's work was to be done. /& &I
ATIRATE! & T dhad & SR €, Sar fok @ 7 R 78t
foRaT o R & il AR i foRaT ST 2

(4) B s not liable for A's negligence, as A was not in
the course of employment when he was driving
the bus. /& & ATRaTe! & fov @ SR 761 8, 91 fh
& ST S T e BT AT, 98 e o ohe F Tt Tl

(5) A is liable for A's negligence, but B is liable for
negligence is hiring A./@& &I dRawr & foig &
SarR &8 7R @ TR ¢ & & R ) @3 &
ATgRaTg! & fa|

Ans. [4]

A incites B to falsely imprison C. The Court holds
that A and B are jointly liable for the tort and
awards C a compensation of Rs. 50,000/-. The Court
rules further that A is liable for forty per cent of the
compensation amount, and B is liable for sixty per
cent of the compensation amount. A refuses to pay
the compensation, while B pays CRs. 20,000/- Which
of the following Statements least accurately applies
the applies the principle below? /& 3 @& @&l 7 & &
HRIEE & fAg IHEMT aEaed 3 & 991 @ 1 99 &9
¥ g5peg & g fAwaR sgeman 8k 7 &t $Ug 50,000/- &
gamast o1 AfRfAofa fran =marera omt ageavar & fF &
gamast it AfA F Tl ufda & fog Gar, ik @
gfrat Y AN F T16 ufda & g Far g 1 & F
HqaATgSt & Wi @ 741 o R, sefes @ J $ug 20,000/ -
&1 Y R B syl § @ @9 91 e D as
RgidRaFnaft vgwgtard 1~

97.
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(1) Ccanclaim Rs. 30,000/- from A. / T
30,000 /- &1 E1aT & T R ehdT B

(2) C can claim Rs. 20,000/- from A and Rs.10,000/-
more from B. /T ¥4T 20,000 / - & & 91 39T 10,000 /
- @ Y Ta1 R TehaT B

(3) C can claim Rs.30,000/- more from B. /T 3¥uq
30,000/- 9 SUTCT T STaT & Y & FehdT & |

(4) C can claim Rs.50,000/- from A. /T ®¥uq 50,000/- <hr
AT & T R GehdT B

(5) C can claim Rs. 30,000/- more from A or B. /7 ¥uq
30,000/- <hT ETaT & AT G Y T GehdT &

RN

Ans. [4]

In the course of its regular operation, Company A
was releasing untreated effluents into a nearby
river, thereby harming the wildlife in and around
the river. A concerned citizen informed the relevant
State Board of this polluting activity. The State
Board immediately issued directions to discontinue
the supply of electricity to Company A. In light of
these facts, which of the following options is the
most accurate? /3ra= Frafda d@are= & srgern &, doet
& Fareadt & 7 srenfaa wiar urht st & off, Fad =& 4
3R IGh ANH-UT & a9 Sfial &t effa g @& ot | 9o
e * Halda Iog Asd ot 39 ugfva wfafafdy 6
SITeRIRT &1 ST HSe A dcehret 21 ST fohy foF Shueft &6
oY fagga angfet de &R & STQ) 39 awf & aRea , A A
@ I T1 fAere gaffdes 98 21
(1) The State Board was acting within its powers to
issue directions under Section 32 since there was
harm being caused to the wildlife. /3sg Age ¥RT 32
& arefle fdr S e <t AIfhal & oeR SRl e TgT o
<4fes = et & g g1 Y s o) < oft
(2) The State Board was acting within its powers to
issue directions under Section 33A disconnection
of electricity is specifically provided under that of
provision /I HE& YRT 33% & 37efi Fdar SRt &t
I TRAT o SieX T B TET AT feh IT UEY™ & Saita
faeggd o1 dey fowde A o1 fAlw ¥u d urqu
(3) The State Board was not acting within its powers
either under Section 32 or Section 33 A, as neither
was there any unforeseen event or accident nor
was there a persistent defiance by Company A.
5T e |l URT 32 AT 9RT 33 & & 3refi srueT rfhat
% 3T I X QT AT A Y IS Sfehfedd T a1 g o
T U & T SR F FRR sra= gt @t ot
(4) The State Board has not adequately utilised its
powers under Section 33A, since it could have
issued orders for the closure of Company A, which
would have been much more effective in stopping
the pollution. /58 #e 7 4RT 33& & ofefi O
ifchal &1 Sfed 39 § GgualT ol fhaT dfch ag St &
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& §E A G S ST IR Fehel! oY, S TIGUOT Akt &
forg ok SuTeT TTaRITe 8t Hehdr o |
(5) The State Board did not have the power to issue
orders either 'under Section 32 or Section 33 A,
since the information about Company A was
provided to them by a concerned citizen who was
not directly aggrieved by the pollution in question.
[T Hed hl URT 32 AT URT 33 & & Siefi ST SRt
A I 2fh 81 o, Gfoh ot & & IR H STHERT TR
AR Y 3R T I yeH Y TS off S uEd uewor §
Ta&T TIfad el o |
Ans. [3]

98. A statute empowers a subordinate authority to

regulate the activities of tobacco industries and levy

taxes on them. The statute permits the authority to

give retrospective effect to its regulatory

notifications under the statute. The authority issues

a regulatory notification levying a developmental

tax on leather industries retrospectively. Which of

the following Statements most accurately applies

the principle below? /&1 & srefiaey wifdarét &t da1e)

et i nfafafdat @ Raaa & qur 39 W aR dAuor FA

@ WidehR g1 @A wive o RAfY & s Fama

SfgE=T ot et ywra 33 Y argaT 81 miveR F =T

e R ya«ieh Ree R Igugur &1 Rams

S i A & Rga ® A= sy=t § @ @69 91 99

e agl &u @ ugeh giar 8?2

(1) The notification is valid, as the power to levy taxes
is sourced directly from a statute. /sif& ga=m fafd
A g, ST foh IuEld AR & forg ok g SrE € o
gl

(2) The notification is valid, as the enactment clearly
and specifically provides for retrospective
application of all notifications under the
enactment. /Sifaga fafd A= &, Siem o sifdfama &
yef T AfdgEere A sdwef vgehar & fog
e e ot ok fasivaar uae sear g1

(3) The notification is ultra vires, as the statute did
not clearly and specifically provide that the
authority may impose a developmental tax.
[ofagE sifdeReda 8, Star fh s wEdar ek
fasiwaar ag uraem Tt sear & foh iR faer & g
R G

(4) The notification is ultra vires, as the enactment
does not clearly and specifically provide for
retrospective levy of taxes. /3ifagamT sifdaRrdd &,
S o sfafga wedar ofik faRivaar uauae & &
Jadteft IEUGUT T el T B

(5) The notification is ultra vires as the authority did
not adhere to principles of natural justice, namely
the right of hearing, before deciding to impose a

91.
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tax. /SHfAgEAT SRR 8, S foh e = Aafifes
1 & gl T urerd T8 fohar o1, guT &R Juor ¥ gd
TAaTE & AfAHR I

Ans. [4]

Law Related to Taxation

A, a non-resident Indian, buys land in Chennai for

Rupees Ten lakhs. After two months, A sells it for

Rupees Fifteen lakhs. However, A gets only Rupees

Twelve lakhs from the buyer of the land. Which of

the following Statements most accurately applied

the principle below? /sErft wRda & 3 9= # &9

o™ Fug # 4fR @At gt A1g & 918 & 7 3@ g A FuY

# a9 fam gieifr & A YA & @ieER & Fad arg a@

u¢ @ ug | R & Riga ® A= syt & @ @9 91 Fu=

Haifer T&t-adt ugeh gar 81"

(1) A's income from the sale of the land is not
taxable, as A is not resident in India. /4 & fasra &
& T T R IR T, ST foh & RA # e 981 e |

(2) A's total income from the sale of the land is
taxable, as Rupees Fifteen lakhs has accrued to A
at the time of the sale. /9f# & fasha @ & & Ferel AT
R g g, ol b & 3 fahg & 999 IUT uwg drg
3urfsta farg|

(3) A can be taxed on Rupees Twelve lakhs received
from sale of the land as it was received in India,
but not on the Rupees Three lakhs as A is yet to
receive that amount. /& TR thad ¥UT TR ARG TR R
ST ST HhdT & S I8 ofF @t d9 § A S foh s
IRd & Ut ot mar o1, wR 39 9 arg Iuat wR gl
g Afr &t o9 qo T AT 1 B

(4) A can be taxed on Rupees Twelve lakhs received
from the sale of the land, as A has purchased land
and is now a resident of India, but not on the
Rupees Three lakhs as A is yet to receive that
amount. /& TR 9 & [Ieha & U FUY IRE ARG TR
T Gehal B, ST foh & F f @t wWlar R o9 vRaT A
g &Ra1 § R 37 9 AR Iuhi R g1 ST & @l 39
fRA I AW B

(5) A's income from the sale of the land is not
taxable, as no debt has been created in A's favour,
and hence, no income has accrued to A. /4 &
faeha T & Y 3T R T TG & ST fh & ueT F g
ot 81 &1, 3R 31dUd, i 3 & ol IuTfold -Tg! &l

Ans. [2]
Law of Contract, Specific Relief,
Property Laws, Negotiable Instrument Act,
A enters into a contract to sell his house to his son B
at a nominal price of Rupees Five lakhs, and B
agrees to pay Rupees Ten thousand every month to
A's daughter, C, for her lifetime. The contract
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contains an arbitration clause that in the event of
any dispute between the parties with respect to the| 6. A and B agree to refer a land dispute to conciliation.
terms of the contract or its implementation, they C, the conciliator, makes a proposal for the
will refer the matter to arbitration-Later, B stops settlement of their dispute, whereby the land will
paying C. C wishes to commence an arbitration be split between A, B. and their sons in a particular
proceeding, but B does not agree to arbitration. C manner. A's son D protests to A that the proposal is
files a suit seeking the Court's direction that biased in favour of B. However, A and B are of the
arbitration proceedings commenced. In light of opinion. that the proposal is the best solution to
these facts be allow, which of the following their dispute. D then claims his share (as outlined in
Statements is most accurate? /& T U HehH &l C's proposal) B, but they refuse to hand over his
U F @ & A A hHG FUY UiT @G FYQ S HI share. In light of these facts and the below which of
TR g1 3R @ A & Fi Gt 71 I uder ATE TUY T4 §9IR FHM the following Statements is most accurate? /@& 3R @
WA I ITSfiast e hY ggafa &1 R & gy @ o fa w1 d@ef awsiar & @y w3 fi ggafa @@t
sidffe fF uerapRl & Ay MR & RAdya sryar 3ITH ugiareR<t 1 3 3G faae & Auer & fog uae o,
foraraa= & aR | &% farae g Y e & 3 At o daof ek sIRT yfA & ok @ iR I ot & oftg adias e &
Heaeydr & forg & @ F 918 | 71 il WA F A &Y STEItl & & gF g A & 1 Rty foRan R uwara @ & gt
T A HOEYAT FRIaE R Al I=BT Sd1E AR # Rl &1 8, R oft & qur @ &Y ag 13 fr uwamE 96
Heaeydr & fg Tgwa € gorm | 1 A [arTerd @ 39 918 @ forare 1 dgaR gEIUTE 21 9 3 99 o= @ g (S
are <R forar &6 geaeydr srfard) urey Y sie 39 d9oalf & T & e § IuEn) @ @ forar, R Sl ST ffwar giua
3R T fRAgial & ertar A, v § @ @19 91 Fy= gaffds ¥ 3R & fam1 39 aeaf aur fA= fAgia & ulRdeg A A
g a? ¥ @ i 91 HYA gaifde S gl
(1) There was no 'separate' arbitration agreement (1) Since A and B have agreed to C's proposal, they
between A and B, and therefore C's suit will be are bound to hand over D's share to him. /df& &
dismissed. /@ 3R @ & 19 HIS GUh TLHWICAT HIR g, JUT G 3 7 & U T geafd 5Id1s €, 31a: d ° ohl 39T
TfIY 7 &1 a1g @RS fohar SITgEm | e dive &t amem g1
(2) There was no arbitration agreement between B (2) Since there is a valid settlement agreement signed
and C, and therefore C's suit will be dismissed. /& by the parties in place; D is entitled to claim his
3R 7T & T g FEYAT IR el § 3R 3T 7T & a1 share, as the agreement is final and binding. /df&
TRt foham S| 75 fafy amg fRuert =R § | 99 ) ygeRl 6 ik @
(3) B's agreement to pay Rupees Ten thousand every EER fhy U &, u 3o R ot grar hea (& T gaheR
month to C was an ancillary matter and not the 2, oI foh e Sifaw quT st 21
subject matter of the contract, and therefore C's (3) Since there is no settlement agreement between A
suit will be dismissed. /@ T T &l Udh A8 9 SIR and B yet, D cannot claim his share under C's
T T A e DT HIR FgHIeh AHEAT AT 3R IR Gl proposal. /dfc a8 FIE FueRT =R & qu1 @ & o= T8l
fawg amer 78 ar, ok safew 7 @ g @R forar & ST9 doh, ¥ 31U+ 3 &l <1a1 71 & Uxarg & Sifd w18t o
SITQ | epdT |
(4) Since arbitration is a voluntary method of (4) Since D has claimed under the settlement
alternate dispute resolution and B did not agree agreement, it is final and binding on him;
to arbitration, no arbitration proceedings can be therefore, he can only seek C's aid in enforcing
ordered by the Court. /AeRerdr Jfd dafcen faarg the agreement. /[dfd g 4 FAUe’T =R & Siaifa am@r
qaTgE 3 ol Widd d¥ar § R @ geRyar & g fhar €, 98 39 WR &ifdw quT dueeR) §; sfelv ag 1 @
TEAd &l 8IdT1 8, <TITag chl 3R ¥ HeeIdT hiidTel ar PR & AT § AEg i 918 e Fehdl g
HIS AT TET fohaT ST TehdT| (5) D is not a party to the conciliation proceedings,
(5) B's failure to pay is clearly a dispute regarding and therefore he can file a suit requesting that the
implementation of the contract, which is the Court set aside the settlement agreement./ @
subject matter of the arbitration agreement, and gquSdT Shrfare! ol ysihR T8l §, ik sufeiy ag 59 3mig
therefore the Court is obliged to refer the matter & TIe AT HR GehdT & for Taem FAuerRT =R &t
to arbitration. /@ &1 FTdH A ¥ fA%eT AT IR & STUTE Y |
fohaTaaeT & Gy o1 WEadT fAdre § ST Aeawerdr axR &l Ans. [3]
oo oy €, ok gafau <amaTery A T deof Heaerdr
% & & T ared g1 22. Which of the following Statements is least accurate
Ans. [2] in relation to 'negotiable instruments' in terms of
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the Negotiable Instruments Act, 1881? [/ & & &l
|1 sy e foraa sifdfam, 1881 Y eregmasht &
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PR Pl §heR ¢, e Tfder I fiR et & AT Ade
F gl

RTehT forad & dady A H @ w9 9d-ad &2 Ans. [1]
(1) A ' negotiable instrument' means a promissory
note, bill of exchange, or cheque payable either to| 24. Which of the following instances is specific

order or to bearer. /WRhr forga’ @1 3 g9 T,
fafr T ot sruar I S ar |t SIeeT AT YRe Y A
gl

(2) 'Negotiation' of an instrument means the transfer
of a promissory note, bill of exchange, “or cheque
to any person, which makes that person the
holder of the instrument. /TR U forad o,
3rufd ao+ =, fafiwg o= ar fohedt saf<h @t I o1 sr=aRor
St af<h ot ferad T YR T 81

performance of the contractual obligation most

likely to be granted? /fw gEidl & & &= a1 @fgcas

iR o1 e fFeare St siferam wvren A gem &2

(1) Where the contract is to transfer movable
property. /%ifder STgt ot Hufy sfarur & fag 81

(2) Where the contract is to transfer immovable
property. /Sfder STgt sraet dufxy siavor & forg 81

(3) Where the trustee enters into the contract in
breach of the trustee's powers. [Tt Sigt ==t &Y

(3) A person affixing a signature on an instrument for 1fchal et o1 ax dfaar & enfae gid 81
the purposes of negotiation of the instrument is (4) Where the contract is determinable. /dfdar st
known as an 'indorser'. [afth St fogd R g eR qaT ¢

TeTeh T & fored & e & vaee & T @8
"g8icheIehd| o ¥U B STHT SITdT 6|

(4) A 'negotiable instrument' is only to be for the
payment of money. /| ‘R fo@d dhad o &
YA & g giar g |

(5) A negotiable instrument may not presumed to be
made or drawn for consideration. /uRTehr foRad &1
SITAT IUYROT o oG & T TG <l ol gt FehdT|

Ans. [5]

Which of the following Statements best describes

the doctrine of privity as it is applicable to contract

law? /A & @ 19 Q1 FYF Ggaay & RAgia &1 dgar

gufq oear @ e s ag d@faer s @ vgeesia 82

(1) A contract cannot usually confer rights or impose
obligations under it to any person except the
parties to such contract. /dfaar Ram 39 dfdar & et
& fonelt aafeh ot TTT=Ia: SifdeR ver 8l hear a1 3Tk
31efie SR AR 78T e

(2) Terms of a contract cannot be revealed to any
third party unless expressly provided for in the
contract. /dfaer Ree= frdht fier uer @t sfer =8t fpw
ST Wehd ST9 dah foh TfaeTr & Te U & 091 uraer= = gl

(3) Terms of a contract cannot be revealed to a third
party, unless both parties agree to do so. /dfdar &
ey fondY iR ver oY sifeR &1 fohy 11 Tepd o9 ok {6
21 uer UOT hent & fAg ggHa T Bl

(4) As long as there is consideration for a promise, it
is immaterial if a third party has provided it. /s
o o a9 & v faaror 8, a8 da Rd & afe iR uar
! Ig UTaentAd g1

(5) Athird party is entitled to demand performance of
the contract, if the contract results in a benefit to

such third party. [de=T ver dfder & Fsore & =i

25.

27.

(5) Where the contract is for the performance of a
continuous dirty. /€fer STgt ad exieg & e &

g g |
Ans. [2]

Which of the following Statements is least accurate

regarding an 'offer' under contract law in India?

[ =T A & i |1 R | S@ider S & ol ‘v’

& dey # T § A fepd St g1

(1)  An offer is not valid unless such offer has been
communicated to the other party. /u&dE@ a9 deh
fafer 77 76} ST9 dh IR uer dl IgeRr FUwor g1 foRar
S|

(2) An offer is complete as against an acceptor when
the offeror puts it in a mode of transmission
outside the control of the offer or. [WdE ad
ipfaaal & favg gof ST & 519 uaraedt & o @
e TaRT 6t fAf & uara vt 38 W@dT 8l

(3) An offer lapses when a counter offer is made. /
UXdTd 99 SAWTd gidl & 519 U TR fopam 911g |

(4) An offer lapses by revocation, as long as such
offer is revoked prior to acceptance of such offer.
| g UfaigRuT & SRY SawTd: Sie d o a8 Ud1e 39
UdTd i Wiepfd & uget ufd 9gRkd &l

(5) An offer lapses upon acceptance of the terms of
the offer by a third party. [FE ¥R get & ik @
UEATq o e &t Wierridr &R auid g1

Ans. [5]

A hands over a permit to a courier company, who
agree to deliver it without delay-to A's, paper
factory. A ad informs the courier company, that his
factory cannot restart production till the permit is
delivered to them. The courier company
unreasonably delays the delivery of the permit. As a
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result, A loses an unusually lucrative contract with a
Japanese company. What is the compensation that
A is entitled to receive from the courier company?
/& 7 FRER doeft & srgar U gué fhar, SR s@ & &
Frret e @t fam e & ugem 6 agafa & & 3 gl
@ut ot gfaa forar ik adht $herdt aa aa Iaure R & 3
T8l TR Hehd! ST deh S8 AT U 7 A Sg1 HRER FHu
3 1R fAwa st U fAwra™ # foram srarh dosht @
wemft Wfer 1 sIE: JRE, & @t 3ER gem @
gamaet @ R IR ot @ ured A &l & ghaR &1
(1) A is entitled to receive as compensation the
average amount of profit that he would have
made from the working of his factory during the
period of delay, but not the loss sustained
through the loss of the contract with the Japanese
company. /& 3G 1 6 fTa AfA U= P gheR & St
34 foacia &I srafdy & RE Sadt # & g1 F gar, IR
ST hoet & EfiaT & Joha & ATeEH 9§ &S afd eika
el
(2) A is entitled to receive as compensation an
amount equal to overhead costs of his factory that
were incurred during the period of delay. /& 1Ot
Fardl & UL T S SRISR AFA T JIHTGSIT UTH hT EHER &

@ :773774 6465 ©
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IG foReraT gt g1 @ §5 R ugd S gt T IR &

&t gRa forar 5 fF ag s o1 fwrar 9w o 8 3

R & 7 dhTe T hl T HR ITH ST & fRg &1

WA & o fIg svgt ST 6 13 @ & fRv1g & apra= fir

ufayy &Y ot a7 SEE) & fRRIg & T & R FRA

fog Swar 82

(1) Cis liable to pay the rent for January because C
has guaranteed it and A is not required to seek
the rent beforehand from B./ 7 SHast & foRIT @t
A e & oy AR & aifes 7 3 g9t ufayfa &
o} JT & &l @ G s T fhIy ol amet i Sevd 78T |

(2) Cis liable to pay the rent for January because B
has defaulted and A can now proceed against the
surety. [T SHeRt & fohRTg T STdH A & fog oisarR
g ifch @ 7 Ik Y § aAT & 379 Ul & [Aeg wrfamet
IR GehdT 8

(3) Cis hot liable to pay the rent for 25 January as the
surety only guarantees performance and C is not
personally liable for B's default. /7 Sast & fom1q o1
PIAF dA & forg iar 78t & Sar fo gfdsy dhaa
gfasfa FAsares & ek 7 @fhrd ¥u @ @ & gk & g
SR 781 81

(4) Cis not liable to pay the rent as B is yet to default

S @& faee <t srafd & R gaml and C's liability will arise only once B has
(3) Ais not entitled to any compensation. /& fhet oft defaulted. /T fRRTT T I Fet & g oiaR =181 &
TGS AT ghaR ol 8 ST o6 @ 319 deh ehl gl & a1 1 hl et 99 St 8

(4) Ais entitled to receive as compensation the profits
that he would have made from the unusually
lucrative contract with a Japanese company. /&
qarTast & ®Y H IG AT HY U AT ghaR & o St
U & SEHTG: Tt Gfder § a8 ured & uTeT |

(5) Als entitled to receive as compensation the profits
that he would have made had he entered into a
similarly lucrative contract with an Indian
company. /@& H3Mast & ¥4 H I AT I UM HT §haR &
O It avg © vRdR ot & yaredt dfer € a8 urd @R
EIGIN

Ans. [1]

A, a landlord, agrees to let his flat out to B for
payment of a monthly rent of Rs. 10,000/-. C agrees
to act as surety for any default by B in payment of
the rent. B is facing a sudden financial crisis and, a
few days before his rent is due, informs A that he
might not be able to pay the rent for January on
time. A immediately calls up C and asks him to pay
the rent for January as C has guaranteed B's
payment of rent. Is C liable to pay the rent for
January to A ? /vy @ifeies & & 9 &l 31T weie ufa wIg
Uy ufd A1g ®uT 10,000 /- TR R A Hrggafaf 177
fRRg & A A @ fi 3R F it ek giv ) shfAA fi avg
T = K ggafa it | @ & A s Al dae

43.

ST9 @ 7 Yo IR I e &l g1
(5) C is liable to pay the rent for January as B is in
financial trouble and unable to pay the rent, and C
has agreed to be the surety for B's performance.
[T STt & foRRTG T T et o forg fSeR g S s
Q fo<fta Wt & § Jr fomRg &1 oA  F gwef =gt
g, 3R T3 @ & fwre & fog ufasy : weafa & 2
Ans. [4]

Which of the following Statements regarding the

examination of title to immovable property is the

least accurate? /A Syl A @ &9 1 YA 3= Tufay

& T h e & Sao A w9 @ FH IE) &l

(1) Examination of title to immovable property covers
information available in public records but not in
private records. /3 TURY & Wea Y ULer FrdeiA
el # Iudey Il @l gd Al § TR A
sifererat &y 78I

(2) Examination of title to immovable property
usually begins with the preparation of an abstract
of title. /3w Tul & Wea 6 TN IHTITAT Wed &
IGUT Sl IR e & AT [ Bt B

(3) Examination of title to immovable property
involves reviewing past deeds, trusts, and other
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encumbrances on the property. [3/@d U & @
& o forra doit, =mEt ok duft R ey R Rt
Gfier T afferd vt 81

(4) Examination of title to immovable property seeks
to reveal any defect in the title. /e Ul & @
F gdte @ F ot Stw ot IgTRA e gt B

(5) Examination of title to immovable property aims
to ascertain whether the title has passed correctly
to each new owner. /3 e Uiy & Wca &l YT 1
o g AfAfRgy o= & f 9 Ot |1 @ ude U
W@ ot Tt w0 @ uTikd ger gl

Ans. [1]

Which of the following Statements regarding the

parties to a deed arising out of the transfer of

property this the most accurate?/ f/a & @ =19 @1

FYF qufA & siaror & facka @ 3 gd vatl & deiy § waffaw

wel-ad 81

(1) Both parties to such a deed need to be competent
to contract. /39 faeRka & ST el &t Tfder A & fag
& g1 &l SRR B

(2) A minor cannot be a party to such a deed. /39
faa &1 et srggws 81 8t Feharl

(3) Unlike a deed arising out of contract, a deed
arising out of the transfer of property does not
require two parties. /dfder & faera 9 orem, 9ufy
o SIcRUT & Igd faet o &l uedt <t srevd |

(4) The person on whom any obligation is imposed
under such a deed has to be competent to
contract. /afe 99 R 39 fadw & arefe g ol
AT T § 98 Gfder A & forg e gt

(5) A person under a disability cannot be a party to
such a deed. /M:3h aafer 39 9@ @1 g 781 &
HehdTl

Ans. [4]

A, aged thirty-two years, executes a gift deed to
transfer a plot of land to his daughter B, who is nine
years old at that time. After ten years, B transfers
the plot of land to her cousin C, aged seventeen
years, for a discounted price of Rupees Twenty
thousand only. Does C have valid title to the
property? /& Sit a<fie adf fit 37 @1 &, SE orue Gt @
g At af 39 F9g ¢1 79 avf 9% @ A @S F e U
TR uiE 7 ot Rt g Fug AT goR @ v fRar 1 @
T & g9 Jufy &1 fafs amg @ 87
(1) C has valid title to the property because both the
first and second transfers were valid transfers, as
the transferor in both cases was competent to
contract. /7 @} ufxy @1 fRfY a1 @ U wife ggenr

63.
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3R g@, Gl SfaRuT A R0l o, ST & At A |
Tfaer & forg aidves gem T

(2) C has valid title to the property because in deeds
relating to transfer of property, the transferee can
be a minor. /7 &t Fufxy @ RAfY a7 @ U & w=ifs
Hufxy & SfaRur § Feifdd faera # Siafet sreaeen gt Fepar
2l

(3) Cdoes not have valid title to the property because
B was not competent to contract in the second
transaction. /7 & dufx o1 R a0 @< 81 & wife
T TER hd-faavor # Hfdar o forg wem =gt

(4) Whether C has valid title is to be ascertained by
the Court on the basis of whether the discounted
price is considered to be adequate consideration.
[a8 a7 & ffd o & W @ ifafRyy 39 emaR R
T Y 3R forar 9w o =g ot Ramadt himd ot
gHfod framor 711 Sg)

(5) Cdoes not have valid title to the property because
a minor can be a transferee only when there is no
obligation on the minor to pay consideration for
the transfer. /7 &t dufxt &1 fafd A= W@ =81 Sraa<en
Ul &l SaR0T haed dHft TR FerdT & T IfaUTh W
3fRuT & foIg foaRor &1 s SR A 81 |

Ans. [5]

A signed a lease agreement with B. The lease
document States that A would lease his 'food-
supermarket' to B. Which of the following
Statements is the most accurate application of the
principle regarding the meaning of 'supermarket’
here? [& 3 @ & T1Y Uzl IR WR g&IeR fFg| ugr s

T HW & & AU ‘W AT ISR’ T UgT & bt w1 A=

FYAT A @ Pl 91 FYF ‘Afd IR’ & rf & day # Rigia

&Y ughaT W Haifie 9gt-agt 8l

(1) The meaning of 'supermarket' is limited by the
preceding word to mean a shop that sells food
and other fast-moving consumer goods, [aifd
TSR’ et 31ef geTTrHt 21 & AT srufd genr il foh gt
Qe a7 3 fiel Tl IUHIH AT fehdT 81

(2) The meaning of supermarket' is enhanced by the
preceding word to mean a shop where food is
also sold. /'31fd STaTR’ @t 37ef geTt <ree © i srufa
M STgt @ Hft AT S B |

(3) The meaning of 'supermarket' is limited by the
preceding word to mean a shop selling of items of
food. / ‘3 SR’ a1 9ref gt sreg @ Hifaa
31Td gent STt @rer <t ATt S STt &

(4) The meaning of 'supermarket' automatically
includes the selling of items of food as well as
various other consumer goods. /3ifd IR & oref #
@a: g @ 9wl & qry g Al Susihr avgaei @
faerg afmfera & |1
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(5) The meaning of 'supermarket' is supported by the
preceding word to mean a shop selling highly
nutritious items of food. / ‘3fd IR’ a1 e
TETrHY Sreg & FHffq ¢ foieent 31ef gehle STgi el hl 3=
ifees gt o1 e gtar &1]

Ans. [3]

Which of the following Statements most accurately
describes the relationship between ‘vested
interests’' and 'contingent interests' with respect to
the law governing transfer of property in India?
['Tfga R’ ok ‘amfda R’ S nm ddu Fl A=A S =
a1 Y= qaffdes Géear § aftfa oar @ Ywra d dufa
SfAROT & HET Tl I T LT & T

(1) Contingent interest is a subset of vested interest.

74.
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(3) Transfer of a right to sue for damages. /&fd & ferg
HeheHT i & SAfURR HhT SHaA=0T|
(4) Transfer of the right to salary of a public officer.
Jarasife SrfeRY & da o 3TfeIhR T 3R]
(5) Transfer of a debt owed to the transferor. /
ot SIGRY BT AT 3fcReh ol |
Ans. [2]

In which one of the following types of mortgages is
'foreclosure' permissible remedy for non-payment
of the mortgage-money within the stipulated time?
| Fr=faf@a 7 | fra uaR & duas d FuffRa a9a & fi®
FYR-Y= T YA 9 1 R "Ry’ Tiaprd 3urd 8?

(1) Simple mortgage. /9™ §4sh

(2) English mortgage. /|  SiiSh due

[amifea fea Rfgd fea mrSu = & (3) Mortgage by way of deposit of title deeds. /@<
(2) Vested interest is a subset of contingent interest. focta ST & SIRU deen
[ffea Ra wfda Ra &1 3u o= @ (4) Usufructory mortgage. /@R ek

(3) A vested interest becomes a contingent interest
upon the occurrence of certain contingent events.
[fRfea fea gmfda g Ay geq R guifdg fga = Strar
8

(4) A contingent interest becomes a vested interest
upon the occurrence of certain contingent events.
[T fga Taifa gear Ay gea i fAfga fga 591 siran
8

(5) A vested interest is the same as a contingent
interest. /Afga Ra dm &t & ST gmnfAa ga & |

Ans. [4]

Which one of the following is not a form of
mortgage recognized by the laws governing
Transfer of Property in India? /YRa & dufa siarur &
HATe & FIAT @ A dueh o1 aed [ § | e T8
&?
(1)  Equitable mortgage. [amayuf e
(2) Mortgage by conditional sale of goods. /AT @1
g1t foshT 9§ deen
(3) Usufructory mortgage. /T - deeh
(4) English mortgage./siis - sereh|
(5) Mortgage by way of deposit of title deeds. [
faeRg st & SIRU S |
Ans. [2]

Which one of the following is a permitted transfer of
property? /faw1 & & spl=ET SR |l siaror 8?
(1) Transfer of the right to civil pension from the

Government. /TR&R @ fAfder g & oy siffeR @t

75.

(5) Mortgage by conditional sale. /asrd faght & wiRY
Sch
Ans. [5]

A gifts the house owned by her to B, her
granddaughter, by providing the registered title
deeds to the house to B. Two witnesses attested the
registered title deeds. Is the gift valid and why? / ©

A R & Ushigpa w@fAe fea ft &t ve= v o @ifaa

aret R Al fl, IR gt w Iugr & 2 Ram g marg A

tsfiepa 2fifer wrat &) wearfia foram @ IusR Ay § ek

ai?

(1) The qift is valid because the principle above does
not apply in this case, as A's house is a movable
property, and only the land on which the house
has been built is immovable. /e fafd 7= & =ifen
SR Rgid 39 AW & Uh a1 giaT, ST, fh & &1 R
el YU 8, 3R hael YA I R R 91 8, 98 3=l

(2) The gift is valid because while the house is an
immovable property, the gift by way of delivery of
title deeds is an exception to therule./ g=  faf¥
AT g, Hilfch &R Sigich 3Tael AU 8, W fder@ & IRy
g e & sruare gl

(3) The gift is valid because A handed over the
immovable property's registered title-deeds,
which were attested by two witnesses, as a gift.
[am fafd 7= &, RiifeR & 3 s/ YUl T Usfiged @
focia gug frar &, O & margl & ok @ T H a8
goarfod forar mar o

(4) The gift is not valid because the house is an

3{avur immovable property, and the gift of a house must
(2) Transfer of easement rights. /@R tfIRRT @ therefore be registered and attested by witnesses.
3R [ fafd o= 7t &, wifer =R ot gufw 8, ofik sHifew

¥R T & Usiichd aT T1aTa] eht 3R & Fmfud i+ =mfey |
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(5) The gift is not valid because despite A handing
over the registered title deeds to the house, the
gift transaction had no witnesses./ &= faf a=r 78t
& il & & IR I Ustiohd Wed fdeld JUE A & rase
T HHAER & s ATt 78 8l

Ans. [4]

A, a Hindu, has separated from his father B. A sells
to C three fields: D, E, and F. A represents to C that
he is authorised to do so. Of these fields, F does not
belong to A. F was retained by B during partition of
the family property. Subsequently, B dies and A
receives the property as B's heir: Which of the
following Statements is the most accurate
application of the principle set out below? / A, T
fég, oA fran B & orem1 8 M g1 A, € Rt A thiee duan &:
D, E, 3fR FI A, C &} gaifan & 6 ag O <A & forg sifdepa
gl e 7 9, F, A9 d&fda @l 81 uiRaiRes sufv &
faars & €R1E F &t B ZRT SRR @1 14T ATl 39 91, B
& g gt SIrelt @ ok A @l B & SWRIfY & w9 | Tufa
uTe gicht g: fAafaf@a d @ 9 a1 sy= = e e R_gia
T TS Tl SIaNT 872
(1) C, not having rescinded the contract of sale, may
require A to deliver F to him. / T, &t faeha & Gfder
1 fae U =181 ¢, & 9 I i I ST qifesd e T |
(2) A can transfer the property to another bona fide
transferee without informing C. / & Uil &1
SAR0T 7 &l o1 Ry foam areafaes siafkdt st o ehran
gl
(3) The benefit of Section 43 is not available to C, as
he was not misled into believing that A had the
power to transfer F. /T @l &RT 43 &1 AT A T,
ST foh a8 ag A ofard | T8 o1 foh & i o siaRur
FHA R ARRE |
(4) Cis a gratuitous transferee in respect of F, and
therefore cannot avail the benefit of Section 43. /T
AU ARl T & Gy § g, 3R FHfeg ORI 43 &I
GRS T8l 3T TehdT|
(5) Since the contract to sell F was void ab initi and
has expired, C cannot exercise the right under
Section 43. /fch T et = T ITEY YR B I LA 8 AR
i IRT 8, T ORI 43 o Aifd ATIRR T IUANT 81 B
HehdTl
Ans. [1]

A, a married Hindu lady, transfers some of her
immovable property to B to be held in trust for the
benefit of her son C, until A's unborn daughter
attains majority. However, the trust deed stipulates
that if her unborn daughter marries outside the
religion, the immovable property is to revert in
favour of the trust and be transferred to C. Which of

78.
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the following Statements is the most accurate

application of the principle below regarding the

transfer to the unborn daughter? / g, ga faarfga fég

Afge, oot o orae dufty s R A & ev & g g

# @ & fag §ft & gwiala a=dt @, 519 9@ fF T @

3o A auEn g1 gt el greifeh, e s # ug urau=

2 for afy STt sre=ft &t et & TR Al el 8, at e

Tufa g & uat ® araw & € St efik Wt @t geaiafRa &R

& o Fafaf@a § @ w9 a1 sy gdiaror & &g J

1 Ry g Rigia o 98 9t s @ ore=h 38 w2

(1) The transfer is invalid as A has transferred the
immovable property to a trust, and thus there has
been no preceding transfer to a living person.
J3ia=or fafe a7 =8, ST fh & 7 erae dufxy ot SfaRuT
=9 &t foear @, S8R ord: Shifad aafRkh @t g st
SfRuT 78T 81

(2) The transfer is invalid because it is conditional on
whether A's unborn daughter marries within the
religion, and this is not a transfer of the whole of
residual interest in the property. [siazor faf A=y
&I 8, lfch a8 I & 39 W o =18 af ;1 & T ST
Ol o o 1R faarg et 8, Ut ag duf A areh fgd et
AT RO T8I B

(3) The transfer is valid. /siazor fafe a7 g1

(4) The transfer is invalid because A has transferred
the property to C and then her unborn daughter
through the same trust deed. /3fd=or fafer a7 &1 &
Fifch & = FURT AT SFAROT 7 I foham & SR STehT ST
ot ot et T R @

(5) The transfer is invalid because the transfer to her
unborn daughter is conditional upon her attaining
majority, and this is not a transfer of the whole of
residual interest in the property. /sfaRor fafd sm=g
g1 & Hifch ITeh! STSTTd AT T SIAR0T I & Ik Twh
g1 &, ofk ag duf & arht i@ ot T SiaroT =161 8

Ans. [2]

The police catch B in the act of theft. They detain
him under a State legislation that grants them the
power of preventive detention to detain people who
are a threat to internal security. B challenges the
actions of the police in detaining him. Which of the
following sentences most accurately applies the
principle below? /gfers 3 @ &t 9} & Feg & et 3@
Iy fRAuE & arefig Reg ST o A9 3@ 39 e
it & fare fPeg f afes & St siaRe grem & fog
T g | @ 3 39 Aeg - i gfew e &t g €
H= g Rigia = A= gt § @ 9 91 9 gaffaes
SfArear & @rg glar 81
(1) This is a colourable exercise of power because the
police have already prevented the theft. /ag 1=k
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AT AT ST & i gferd = uget & IR o1 s
& forar i
(2) This is a colourable exercise of power because the
police are using their power of preventive
detention unreasonably to detain B when they
ought to prosecute B for theft. [ag 1tk &1 SmTRe
TR ¢ Fifs gfem 3 Rars Peg & srot ufh &
IUANT @ ot ST ¥U § Ak X fohar & Siafh 38 @ @t
TR & g srf i sear @nfgy am
(3) This is not a colourable exercise of power because
the State legislation granted the police the power
of preventive detention. /ag <Ifth &1 SRl g%AATA
TEI & ifer T faym 7 gierw &t fFare g & Ak
31 i gl
(4) This is not a colourable exercise of power because
the police is preventing B from committing more
thefts, which are a threat to internal security. /
gg 1<k &1 ST SWATd el & it gl A @
! 3R TR e G kT 8, ST SridRen GRam & g @avT 81
(5) This is not a colourable exercise of power because
the police are authorised by law to detain people.
% 1k AT ST SXAFTS -Tg] & Rilfch Gfels eht SRl hl
3R T AT ot o, et ok forg iflepa foram T 81
Ans. [2]
A is a brokerage firm that helps businesses buy and
sell real estate. They receive Rs. 25,00,000/- as
commissions from their clients. They also receive Rs.
75,00,000/- from sale of their office. Which of the
following Statements is the most accurate
application of the principle below? /< &aTeft ufasT &
Sit TuTeR Sufe & Fa-fAsa & aggamal d Aeg war g 138
31U+ UTgah! & MTed & 9 & IUY 25,00,000/- fAst| 3@ =
FrEafed & d=H 4 off Fug 75,00,000/- A1 A= & Rga
R A= =l 7 @ i a1 A Fatfdes sRaar @ @nga?
(1) The monies from the commission are capital
receipts and the money from the sale of A's office
is a revenue receipt. /3TTgd & U o Yot UIftd g SR
& h hATT o [Iehd § T & o UIfd g
(2) The monies from the commissions are revenue
receipts and the money from the sale of A's office
is a capital receipt. /3Ted ¥ U &+ IoT<d Ui &
3R & & praferd & fasha 3 U o= it wifed 81
(3) The monies from the commissions as well as the
money from the sale of A's office are revenue
receipts. [3Tgd ¥ o1 i mifaai & & wrafea & g @
UTed & i a<g g Ierd wifeai |
(4) The monies from the commissions as well as the
money from the sale of A's office are capital
receipts. /3Tgd ¥ 1 i mfcaai & & wrafea & g @
UTed & i a<g gt Ysit wifear &
(5) The monies from the commissions are revenue
receipts, but the money from the sale of A's office

80.
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is neither a capital receipt nor a revenue
receipt./sed & U o Iog WIfaal 8, R & &
Frafead & faha & o= 7 af goit wife 8, 7 8 o wifid 8
|

Ans. [2]

Countries A and B agree to a practice whereby no
craft can enter their harbours at night time without
seeking permission twenty-four hours in advance
from the harbour master. Ships from all around the
world abide by this rule when visiting Countries A
and B for a number of years. Although it sends no
ships to Countries A or B, newly created country C
objects to this practice. Country D also objects,
although all ships of Country D have abided by the
rule over the years. Which of the following
Statement most accurately reflects the likely status
of this practice? / @& aur @ 22/ 3 Wgnfa M &k a9 &
THY I FAMET R R oft STgreT demg areer @ =g
e Jifw & srgafa args & A vder 7@ &R g@ar, R fay
Qg aul G F aur @ i d omd @, sy Ran  urie 8,
g 331 7 7 39 gfa R mufy &Y, 3w 7 3 f 39 Rmw w
mufa S1arE, greifer 291 7 auf @ 359 fAaw Y ure=m dan
1 81 39 gfst i Feafa =) aaffdes géiear @ A= =t d
@ = a1 ey ufafeifaea wear 82
(1) It is an emerging rule of custom for all countries,
because ships from all over the world are abiding
by the practice. /g wT 1 Igd g Fgw Tt &t &
forg & aifes R fay & Sere g @ uree 21
(2) Both Country C and Country D are exempt from
this rule of custom because of their consistent
objection. /7 quT ¥ T 37 U1 & 39 W @ g7h 8
Fifeh et MUty AR TU & 81
(3) Only Country C is exempt from this rule of custom
because-of its objection. /& 71 221 8 39 o & <k
2 ifeh IHh! IF IR Ul g
(4) Countries C and D's objections will prevent the
new practice from becoming a rule of custom. /T
T © 321t <t Uiy ger & | a4 € =€ g i Fare
=uill
(5) Since this practice is only taking place in the
harbours of two countries, it is not an emerging
rule of custom. /df& Ry dhaer &t I & demEl W
Ug<h ¢, 98 UT I Udhe gar faw =gl 81
Ans. [5]

A owns a house in City B. The house used to fetch a
rent of Rs. 15,000/- every month but it has been
vacant for over two years. A is now unemployed and
stays with family in City C and has been residing
there for the past three years. Which of the
following Statements most accurately applies the
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principle Stated ' below? /& &1 @ 2 # g & HGH
21 Heh19 <1 IUANT Ulas HIg $UT 15,000/ - & forere & fag
forar STaT @ R g &) ad € SR @ @refl 21 & 39 RISFR
g 9u1 71 R A aRaR & a1y fed fi9 g @ e &=
g1 = hg A= =t d @ - 9 91 YT Faifds gh-ad
SmL g g |

(1) Since A's house in City B is vacant, the annual
value of it is zero. /@ TR & & T HHhM Ifch @rett &,
3T a1fieh e T &

(2) Since A's house in City B used to be let out for Rs.
15,000/-, the annual value of it may reasonably be
expected to be around Rs. 15,000/-. /dfer @ g &
@ T HehH ¥9U 15,000 / - & fog fohe or ST o §,
G A Heg arfere ¥U 4 srafaéia sde $Ug 15,000/-
g g |

(3) Since A is residing in City C for over three years,
the annual value of the house may be considered
to be zero. [dfdh & AR T A IF W § 1 I T @
g1 8, FeAT ol aTitieh g A 1 HIHT ST b |

(4) Since A is purposefully letting the house in City B
be vacant, the annual value of the house must be
considered. to be zero. [dfch & &1 FeH AR @ H
fReg & fOIT IR &1 @Tell €, HHRM ol arftieh Jod
I B AET ST 91ieY

(5) Since A is unemployed and residing in another
city, the annual value of the house must be
considered to be zero. /feh & SRISFIR & TAT 34 AL
# 3ga1 8, R ohT aATfteh Hed I &l AT ST =iy |

Ans. [2]

Limitation Act

Which of the following Statements is most accurate

about the Limitation Act, 1963? /[ufzflar sifafaam,

1963 & aR # fr=1 # & &9, 91 FHYy= Haifds 9 82

(1) It prescribes the jurisdictional limits of various
Courts in India. /48 yRa ¥ ff¥= <omme™ &
SifrepTRar T ot fafga w=ar 81

(2) ‘It prescribes the pecuniary limits of various
Courts' jurisdiction in India. /a8 YRa & fafa=
ATl i g T At fafed wear gl

(3) It prescribes the territorial limits of various
Courts' jurisdiction in India. /a8 YRd & fafa=
raTerdt i SfeRTRAT <t eita dim ot fafgd axar 81

(4) It prescribes the periods of limitation for different
types of proceedings that may be instituted in a
Court or an arbitral Tribunal. /g8 RfY= UeR Hi
Frfaneal &t safdy i diar o) fifgd w=xar & s e
37T, ATHRH_ JfAR0T F Tifird HY Frg

(5) It prescribes the periods of limitation for different
types of proceedings that may be instituted in a

83.
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Court. /ag Rf¥= ueprR 6t wrfarfgal & safd & dar
ot fafga ear & S ~amarera & w@nfag 6 S|
Ans. [5]

International Law
A citizen of Country A is accused of killing a citizen
of Country B on a ship that is registered in Country
A and flying the flag of Country A while it is in
international waters. Which of the followings
Statements most accurately applies the principle
below? /e 21 T ARTReR 221 @ & ANTRE T T I STEreT
WR g Y T NG & 51l & A A GSAIFa g AAMIT R &
22T T ST gl §oHT @ STdfch STgrel SavTed ST & |
1l = & Rgia = A= =t d § H9 91 Fy= gaffds
TEI-E &1 gl 82
(1) Either Country A or Country B could prosecute the
man. /a1 at 37 & I7 237 @ I AT o= Tepar AT
(2) Laws of Country A apply to the accused. /@& g1 &I
L ARG TR AL T
(3) Any country can prosecute the accused because
the ship was in international waters. /@3 oft g1
SAYh I AT IR el § Rilfh STgIST AL
Siet & H T
(4) Country B should prosecute the accused because
a citizen of Country B was killed in international
waters. [ @ & HfNYGH ol AHIIT A1 =1y
Fifch SIARTENT STeT &3 | W@ &7 T ANTRR AR 74T AT|
(5) No national laws apply to the situation because
the ship was in international. /ffa & fog =13 T
HH AT & giaT Hifch ST SHavTeig & 7 2l
Ans. [2]

Country A signs an international treaty, whose

primary objective is to ensure that its member-

countries do not conduct any nuclear tests. Country

A does provide a reservation that it be allowed to

conduct nuclear tests in its own territory, even

though its current policy is to not conduct any
nuclear tests. Which of the following Statements
most accurately applies the principle below? /@ sr

3 iy Gy R gwer fag, Siad mufdes 3ea ag

gRfYa s ¢ ff Sud aew 3 &l Ay udiemor T8

TR & 3 7 RETUT T uraUr fovar foh I/ sroeht asfiaar #

gRATY] gdigror i ST &, gTifeh Sl ada Hfifa i of

ORATY] GET0T 7 et A g1 A e Rigia w® = syt d

& 9 91 Sy Gaffdes aéaar @ ug giar 8?

(1) Country A won't be regarded as a party to the
treaty because the reservation is not compatible
with the object of the treaty. [ 237 @t GfYY &1 Uer
ST @ AT ST G it SRerr |fY & Seedl &
IEA e B
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(2) Country A will be regarded as a party to the, treaty
because the treaty's objective is at least partly
fulfilled. /@& =1 ot T o1 Tt ST AT SITQ ifes GfYy
% Ie T Sidd: Sifvehar § g g1 81

(3) Country A will be regarded as a party to the treaty,
provided it doesn't actually conduct any tests. /&
22T B IfY BT UeT ST HMT NG, e R 9g &g
TH&T0T aTferd g1 el 8l

(4) Country A will be regarded as a party to the treaty
when it passes a domestic law in line with its
policy that it conduct no tests. /& 321 &Y TfY T et
ST HHT TG S 39 B, A S0 Gl - Tteror 7
A &Y Hifa <t fes et uRa foram 81

(5) Country A won't be regarded as a party if it
conducts any nuclear tests. /e 27 &t HfY &1 gey S
TE! AT ST G AfE 98 his URATY] GE0T ot Fatferd
FRATE |

Ans. [1]

Interpretation
Which of the following is not an external aid that
may be used to assist in constructing the meaning
of a piece of legislation? [ & & &l ar 18] 9@
T8l & o gent Suah fAur= & e &1 orf o1 & ggrar &
forg famar s gadem?
(1) Parliamentary debates. /49g/ 98491
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compulsorily registrable under the Registration Act,

1908 and why? /& auT @ =R g sifases & faae &

gffeq 21 faare &t gare aeaey &t 92 forar mar oad

sfafacfa qika == 9iRa fhar for sauR g o1 oifes &

21 ugraad, & 7 98 =R g F e w farer &

feam e A @ 6 91 U= 39 aR # gaffde S & 6 =g

at ag augeN R SifRarda dsfios dsftas avg uefiom

S1fafm, 1908 o arefi= & ofik Fi?

(1) No, it is not compulsorily registrable because only
orders of a Court that declare rights are
compulsorily registrable. [7gl, ug dsfieRor avg
Sifarfa: 781 wifch had AT & S St AfIBR
YT o 8, Aarid: GsiieoT ai gl

(2) Yes, it is compulsorily registrable non-testamentary
because all instruments assigning an award that
declare a right need to be registered. /g, g
JfAarda: dsftecur ai g ifes Tl R-adfiadt gux
sifafofa &1 FageE St 9T #xar 8 fh sfdeR &
Gita &t S1eed 81

(3) No, it is not compulsorily registrable because it
assigned intellectual property, which is not
immovable property. /78!, I8 SifFarda: dsiaa ama
81 ifeh ug difger TuaT ot A 8, St 3rael gufx
T 8l

(4) No, it is not compulsorily registrable because a
settlement agreement is a testamentary

(2) Law Commission reports. /faf& smahT ufdae| instrument. /781, g8 sifRardq: dsias ol T8t waife

(3) Other statutes. /37 &I Feleed R gid! U g

(4) Decisions of Courts in other jurisdictions. /g&%t (5) Yes, it is compulsorily registrable since immovable
SifAreRIRaT & =amarert & Ao property also includes intellectual property. [ &,

(5) Proviso to a provision in the statute. /& & grgu™ gg farda: dsfig g g, 9fe srme dufa oft difges
T IS | Tuer ¥ gfdfera g1

Ans. [5]

Which of the following is not a rule of statutory
interpretation? /A1 A & &is &1 denfie e @ Faw
T 8?

(1) The literal rule /anfees Raw

Ans. [4]

58.

Ans. [3]

Jurisprudence
Which of the following schools of jurisprudence
believes that there is no necessary connection
between law and morality but there may be
instances where moral considerations may play a

(2) The context rule /Iy Aaw role in legal validity? /=g 1 1 & @ @9 T Aa
(3) The golden rule /7ea faw Ry o=ar & & & aw Afdwar & dig ® i smawge
(4) The genuine rule /g e ey A8l § R agi gEid gl vt g Sigi Afde fFaror fi
(5) The mischief rule /eifA® uRgR fAaw fafdes fafer ar=aar A g gendt &2

1) Natural law. /39 &

(1)
(2) Inclusive legal positivism. /sfafifga fafdre geurfarg)
Registration Act,1908 (3) Exclusive legal positivism. /3= fafdes gurf ar|
49. A and B are involved in a trademark infringement (4) Inner morality of law. /@[ <t sige-t Afderdr
dispute. The dispute is referred to a sole arbitrator (5) Sociological school of law. /& &1 FATSIRTETT 7d|

who passes an award declaring A to be the owner of
the trademark. Subsequently, A assigns this
trademark to C without any consideration. Which of
the following Statements is most accurate about
whether such an assignment agreement is

20.

Ans. [2]

GK
The Panchayat Act of a State provides that all
matters relating to criminal trespass shall be
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decided by the nyaya panchyat of that area. The T Hifelds YRR & Ieviad H drd ol o1
Panchayat Act also provides that no lawyer may GehdT| $H dE & I I UATId o GHET JTfAahT § st
plead a case before a nyaya panchayat. A is arrested AT TG e T STTIDR B

on a charge of criminal trespass and is produced Ans. [5]

before the relevant Nyaya Panchayat. A demands

access to a lawyer, but is denied. Which of the

following is most correct? / fneft wvg & damw

fafaas & urau g fF smuriiYer siff=mR @ d&fda asft

Al o1 fAofa 39 &5 i <o demaa g o sem

e afafam & ag oft uraens @ &6 & oft ahie =

Uargd & THel Aet fY WAt AE R Ghar @1 T @t

STRIA JifaaR & Ry # ARvaR farar mam @ ok Heifda

AT deTad & §WeT g1 farar war 81 ¢ gk adhie d ugd &t

HiT Fedl g, Afh I/ TR = R smar 81 fAafaf@a &

Y hF 1 99 I 82

(1) A has the right to consult a legal practitioner, and
to be defended by one. However, this right would
be overruled by the provisions of the Panchayat
Act. /o5 ol 3ifSehT @ TRl T ohT SRR € ofik foneht
& R ¥ smmg fhy ST @1l daifY, g8 SiffeR damad
A & grayml 6 SR ¥ ThRT ST Foh |

(2) Promoting local self-government is one of the
constitutional ideals, and individual liberties
cannot be allowed to hamper the development of
such ideals. As such, A does not have the right to
consult or be defended by a legal practitioner.
[ @ A @Y Utcargd Ifaem o Uen ermesf §
3R RhT T al 39 aef & G IR die e &t
ST &I 81 Foncht, & ot Sifdahr & Ll A a1 IS
FaTE e o SfHR T8l Bl

(3) A may consult a legal practitioner. However, it
cannot be argued that a nyaya merely appearing
before panchayat on criminal grounds requires a
'defence’. As such, A does not have the right to
ask for a lawyer when appearing before the Nyaya
Panchayat. /@& 3ife<eT § Wl o T, grelifch a8
&9 el P Gehdl, chael AT UGId o THE ‘F@d’ i
TR Fifed gifSe YR TR UM g1 TehdT & | 39 A6 & Al
STfAGhT ol =TT UATd & THeET UL B & fIT ad shg
PR &1 81

(4) A has the right to consult a legal practitioner, and
to be defended by a legal practitioner. However,
this right would only come into operation if A is
convicted of-the offence of criminal trespass, and
not before. /@ <hl 31fAa<hT 9 UM e 3R S1fera<ht &
SR sTd & @t MR & Jutft gg sifder 9+t darem
F 311 UTQeT S79 o Y a R gifee sifdera & g gidt &
o 3 ot e |

(5) The State cannot make a law that is in
contravention of the fundamental rights.As such,
A has the right to consult and be defended by a
legal practitioner before the nyaya Panchayat. /
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